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INTRODUCTION



History+ for Edexcel A Level: Democracies in change: Britain and the USA in the twentieth century supports Edexcel’s Route H. Specifically, it supports the following papers:





•  Paper 1H: Britain transformed, 1918–97



•  Paper 2H.1: The USA, c1920–55: boom, bust and recovery



•  Paper 2H.2: The USA, 1955–92: conformity and challenge





About the course


Your overall A level History course for the Edexcel Specification includes three externally examined papers and coursework. If you are studying AS History, there are two externally examined papers. The papers are:





•  Paper 1: Breadth study with interpretations (AS and A level)



•  Paper 2: Depth study (AS and A level)



•  Paper 3: Themes in breadth with aspects in depth (A level only)





This book covers the breadth study with interpretations ‘Britain transformed, 1918–97’ and two depth studies of which you must study one: ‘The USA, c1920–55: boom, bust and recovery’ or ‘The USA, 1955–92: conformity and challenge’.


How to use this book


This book had been designed to help you develop the knowledge and skills necessary to succeed in Paper 1 and Paper 2.


The book divides into three main parts, dealing with Paper 1, Paper 2.1 and Paper 2.2 respectively. The structure of each part parallels the structure of the specification. Therefore:





•  Paper 1 has four themes, each divided into three chapters, and a final section dealing with the historical interpretation, again divided into four chapters. Each theme and historical interpretation begins with the Big Picture, setting the scene for the material which follows.



•  Paper 2 starts with a big-picture overview of the whole period and then is divided into four chapters dealing with the four key topics of the specification.





Each chapter begins with an overview of the theme, topic or interpretation discussed to set it in context, and ends with a chapter summary to help with revision of the key points included in the chapter. Summary diagrams at the end of chapters should also help with revision.


Our features throughout the book with help to aid your understanding of the period and develop your essay-writing skills.


Essay-writing skills


Essay technique sections at the end of chapters help develop essay writing skills. These include how to:





•  focus on the question



•  structure your answer



•  deploy detail



•  analyse



•  create and sustain a balanced argument.





Where necessary, they also show how to approach the sources and extracts that accompany some exam questions.


Practice questions provide exam-style questions so that you can practise answering questions related to the different topics and themes that you study.


Help with note-making


On pages ix–xi there are a series of note-making styles, which you can use as you work through the book. These are designed to ensure that your note-making is clear, and set you up to revise for the exam.


Note it down activities appear throughout the book, to guide your note-taking. They sometimes refer back to the note-making styles outlined at the beginning of the book.


Work together


The book also contains Work together activities. These consist of activities designed to help you work together to check your understanding of the topics as you go along.



Extended reading


In addition to the traditional textbook narrative, this book contains four specially commissioned essays from practising academic historians. These address the historical interpretation and are designed to introduce you the historical debate in a way that is contemporary historiography directly related to the exam.


Recommended reading


You can find recommended reading sections throughout the book. These are designed to point you in the direction of both classic works on the subject and examples of more recent historical writing.


About the exam


The A level exam


The A level comprises three papers and coursework. Paper 1 and Paper 2 are examined at the same time, as part of the same route. Paper 1 is worth 30 per cent of the total A level and Paper 2 is worth 20 per cent. Paper 3 is examined separately and is worth 30 per cent, with the coursework making up the final 20 per cent of marks. This section looks at Paper 1 and Paper 2, as these are the papers this book supports.


Paper 1


The Paper 1 exam paper is divided into three parts: Section A, Section B and Section C. The different sections will test different skills and aspects of the history you have studied.


Sections A and B test your knowledge of the period 1918–79. The questions test your breadth of knowledge of four key themes:





•  A changing political and economic environment, 1918–79



•  Creating a welfare state, 1918–79



•  Society in transition, 1918–79



•  The changing quality of life, 1918–79.





Section C tests your depth of knowledge regarding a historical interpretation.


Sections A and B


Sections A and B test the breadth of your knowledge, and each section requires you to write an essay. In both Section A and B you have to answer one question from a choice of two.


Section A of the exam paper contains two questions, of which you are required to complete one. Questions in Section A will test the breadth of your knowledge by focussing on at least ten years.


Section B of the exam paper also contains two questions, of which you are required to complete one. Questions in Section B will test the breadth of your knowledge by focussing on at least one-third of the period you have studied, about twenty years.


Neither Section A nor B requires you to read or analyse either sources or extracts from the work of historians.


Section A and B questions require you to deploy a variety of skills. The most important are focus on the question, selection and deployment of relevant detail, analysis and, at the highest level, prioritisation.


Questions in Section A and B will focus on one of the following concepts:





•  cause



•  consequence



•  change/continuity



•  similarity/difference



•  significance.





Therefore, the questions will typically begin with one of the following stems:





•  How far…



•  How accurate is it to say…



•  To what extent…



•  How significant…



•  How successful…






Section C


Section C of the exam paper is different to Sections A and B. While Section A and B test your own knowledge, Section C tests your own knowledge and your ability to analyse and evaluate interpretations of the past in the work of historians. Therefore, Section C contains two extracts from the work of historians. Section C of the exam contains one compulsory question.


Section C focusses on an interpretation related to the following controversy:


What impact did Thatcher’s governments (1979–90) have on Britain 1979–97?


It looks at the following aspects of the potential crisis:





•  the effect of Thatcher’s economic policies



•  the extent to which state intervention and the public sector were ‘rolled back’



•  the extent of political and social division in Britain



•  the effect of Thatcherism on politics and party development.





Section C tests your ability to analyse and evaluate different historical interpretations in the light of your own knowledge. Therefore, it tests a variety of skills including:





•  identifying the interpretation



•  writing a well-structured essay



•  integrating own extracts with own knowledge



•  reaching an overall judgement.





Paper 2


Paper 2 is a depth paper. This means that the questions will test your knowledge of short periods of history.


The USA, c1920–55: boom, bust and recovery’s key topics are:





•  Boom and crash, 1920–29



•  Depression and the New Deal, 1929–38



•  Impact of the New Deal and the Second World War on the USA to 1945



•  The transformation of the USA, 1945–55





The USA, 1955–92: conformity and challenge’s key topics are:





•  Affluence and conformity, 1955–63



•  Protest and reaction, 1963–72



•  Social and political change, 1973–80



•  Republican dominance and its opponents, 1981–92





The Paper 2 exam is divided into two sections. Section A is a source question while Section B requires you to write an essay from your own knowledge.


Section A


In the A level paper questions in Section A require you to analyse two primary sources. They will typically be phrased in the following way:


How far could the historian make use of Sources 1 and 2 to investigate [x]?


You are required to use the sources, your own knowledge and the information given about the sources. You might consider the following:





•  What the sources would tell the historian about the topic.



•  How nature, origin and purpose could give the historian more information about the critical stance of the author, as well as some evidence about usefulness.



•  How you can use your knowledge of the historical context to support or develop inferences made from the sources, and to either confirm the accuracy or limitations of information within them or to note limitations and challenge the accuracy of the sources.



•  What you could say about the two sources in combination.





Section B


You should answer questions in Section B in the form of an essay. The questions could focus on the following concepts:





•  cause



•  consequence



•  change/continuity



•  similarity/difference



•  significance.





The questions could begin with the following question stems:





•  How far…



•  How accurate is it to say…



•  To what extent…





The AS level exam


The AS level comprises two papers. Paper 1 is worth 60 per cent of the total A level and Paper 2 is worth 40 per cent.


Paper 1


The AS exam tests all of the same content as the A level exam, and is structured in exactly the same way. However, there are differences between the two exams:


Sections A and B


There are three key differences between the A and AS level in Sections A and B.





•  Wording: the wording of AS level questions will be less complex than the wording of A level questions. Specifically, there are likely to be adjectives or qualifying phrases in the question. For example:









	A level-style question

	AS level-style question






	How far does the economic effect of The Second World War explain Britain’s relative economic decline 1945–79?

	How extensive was welfare provision by 1939?










•  Focus: Section A questions can focus on a more limited range of concepts at AS than at A level. Specifically, at AS level Section A questions can only focus on cause and consequences (including success and failure), whereas A level questions can focus on a wider variety of concepts.



•  Mark scheme: the A level mark scheme has five levels, whereas the AS level mark scheme only has four. This means that full marks are available at AS for an analytical essay, whereas sustained analysis is necessary for full marks at A level.





Section C


Section C of the AS exam focusses on the same aspects of the same debate:


What impact did Thatcher’s governments (1979–90) have on Britain 1979–97?


As in the A level exam you have to answer one compulsory question based on two extracts. The AS level exam is different from the A level exam in the following ways:





•  The question: the AS level question is worded in a less complex way than the A level question. For example:









	A level-style question

	AS level-style question






	

In the light of differing interpretations, how convincing do you find the view that Thatcher’s economic policies led to ‘a positive improvement in the trajectory of the British economy’?


To explain your answer, analyse and evaluate the material in both extracts, using your own knowledge of the issues.




	

Historians have different views about whether Thatcher’s economic policies benefited Britain. Analyse and evaluate the extracts and use your knowledge of the issues to explain your answer to the following question.


How far do you agree with the view that Thatcher’s economic policies were positive in that they halted the long-term trend of economic decline?













•  The extracts: at AS the extracts will be slightly shorter and you may get extracts taken from textbooks as well as the work of historians. In this sense the extracts at AS level should be slightly easier to read and understand.



•  The mark scheme: The A level mark scheme has five levels, whereas the AS level mark scheme only has four. This means that full marks are available at AS for an analytical essay, whereas sustained analysis is necessary for full marks at A Level.





Paper 2


The AS exam tests all of the same content as the A level exam, and is structured in a similar way. However, there are differences between the two exams:


Section A


Section A of the AS exam is structured in a different way to the A level exam. In essence, Section A at AS tests the same skills as Section A at A level, but over two questions rather than one.


The AS Section A is divided into part (a) and part (b).


Part (a)


Part (a) contains one compulsory question related to a single source. Part (a) asks you to consider how the source is of value to a historian who is engaged in a specified enquiry.


The question requires you to reach a judgement about the ways in which Source 1 is valuable. In that sense the question is not primarily about looking for the ways in which the source is unreliable. Examiners are looking for the following skills:





•  detailed contextual knowledge that explains the meaning of relevant points made by the source



•  valid inferences



•  an overall judgement about the value of the source related to valid criteria.





Part (b)


Part (b) contains one compulsory question related to a single source. Part (b) asks you to consider how much weight to give a source for a specified enquiry. Therefore, part (b) requires you to consider the value and the limits of the source.


Part (b) tests your ability to:





•  comprehend and analyse source material



•  use historical knowledge to weigh the value of the source



•  reach a judgement, based on valid criteria, about the value of the source.





Section B


Section B of the AS exam tests the same content knowledge as Section B of the A level exam. Section B comprises three questions, of which you must complete one.


Paper 2 Section B questions are very similar to Paper 1 Section B questions (see page vi). The key difference relates to the period on which the question focusses. Paper 2 examines your knowledge of depth. Therefore Section B questions can focus on a single event or a single year. Alternatively, they might focus on the whole chronology of the course.





NOTE-MAKING



Good note-taking is really important. Your notes are an essential revision resource. What is more, the process of making notes will help you understand and remember what you are reading.


How books work


Most books are written as clearly as possible. Therefore, writers use a variety of techniques to help you learn.


Authors often break up their work into key points (the most important ideas and themes) and supporting evidence (the details that support the key points). Key points are usually general statements. For example, a key point might be ‘The immediate cause of the Liberals’ decline were the actions of David Lloyd George’, while the supporting evidence might be a list of detailed examples that indicate the key point is correct.


How to make notes


Most note-making styles reflect the distinction between key points and supporting evidence. Below is advice on a variety of different note-taking styles. Throughout each section in the book are note-making activities for you to carry out.


Hints and tips


The important thing is that you understand your notes. Therefore, you don’t have to write everything down, and you don’t have to write in full sentences.


While making notes you can use abbreviations:






	Full text

	Abbreviation






	

Liberal Party


Labour Party


Lloyd George


General Election




	

LiP


LP


LG


GE









You can use arrows instead of words:






	Full text

	Arrow






	

Increased


Decreased




	

↑


↓










You can use mathematical notation:






	Equals

	=






	Plus, and

	+






	Because
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	Therefore

	∴







Here’s an example:






	Text

	Notes






	During Lloyd George’s six years as prime minister (1916–22) he sold 1,500 knighthoods and nearly 100 peerages. The scandal did immense damage to his credibility.

	K’hoods + peerages = scandal ∴ LG’s credibility ↓







Note-making styles


There are a large number of note-making styles. You can find examples of four popular styles below. All of them have their strengths so it is a good idea to try them all and work out which style suits you.


The examples below are of notes taken from Chapter 1 on pages 4–5.


Style 1: Bullet points
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Bullet points can be a useful method of making notes because:





•  They encourage you to write in note form, rather than in full sentences.



•  They help you to organise your ideas in a systematic fashion.



•  They are easy to skim read later.



•  You can show relative importance visually by indenting less important, or supporting points.
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1  Scan the section before you read it in depth. Identify headings (points of explanation). Significantly, you should try looking for the key points in the first sentence of each paragraph. On your page of notes, set the key points out in sections



2  Now read carefully through the section. Write supporting points or points of evidence under the relevant headings.





The end result should look like this.


The Liberal Party in 1918





•  Free trade; limited role for government; social reform




•  Appeal to trad. voters ↓




•  Divisions: power of state; coalition = split (LiP vs Coalition LiP)







Style 2: Spider diagrams
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Spider diagrams or mind maps can be a useful method of making notes because:





•  They will help you to categorise factors: each of the main branches coming from the centre should be a new category.



•  They can help you see what is most important: often the most important factors will be close to the centre of the diagram.



•  They can help you see connections between different aspects of what you are studying. It is useful to draw lines between different parts of your diagram to show links.



•  They can also help you with essay planning: you can use them to quickly get down the main points and develop a clear structure in response to an essay question.





[image: ]








1  Draw a circle in the middle of your piece of paper. It should be large enough to contain the section title.



2  Scan the section and identify headings. Draw lines out from your central circle – remember to leave plenty of room between them so that you can fit in all of your notes.



3  Read through the section carefully. Write supporting points or points of evidence under the relevant headings.





The end result should look like this.
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Style 3: The 1:2 method


Divide your page as in the example below:
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1  Write the key points in the left-hand section.



2  Write the supporting detail in the right-hand section.





The end result should look like this:






	Key points

	Supporting detail






	The decline of the Liberal Party, 1918–22

	

Divisions in the party – GE 1918 split into two


Credibility of LG ↓ [image: ] sale of k’hoods; Turkey


Rise of LP [image: ] Rep. People Act 1918


1922 GE – LiP collapse











Style 4: Index cards
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Index cards are particularly useful when you are revising for your exam, or when you are planning your essays.


Revision


Index cards are small, and therefore they encourage you to prioritise, by forcing you to note down only the most important information.


Essay planning


You can use index cards to help plan essays in the following way. First, select all of the cards that are relevant to your essay. Arrange the cards in order to develop a structure for your essay. Rearranging the cards can also help you work out the best structure for your essay.
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1  Scan through the section. Identify either themes or important sub-sections. Use a different index card for each sub-section. On one side of each index card write:








•  the title of the main section in the top left corner in one colour



•  the title of the sub-section that you are currently reading about in the middle of the index card, in another colour.
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2  Now read the section carefully. On the back of each index card write bullet points for the relevant notes.
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3  You can punch a hole in the corner of the cards, and tag-tie the cards for each section.







Paper 1 Britain transformed, 1918–97


Theme 1 A changing political and economic environment, 1918–79


The big picture


This first theme examines the political and economic changes that took place in Britain from the end of the First World War in 1918 to the election of Margaret Thatcher in 1979. It was a period when the basic assumptions of how the state, society and political parties worked and interacted together fundamentally changed.


From 1918 onwards millions of working-class male voters were enfranchised, alongside women over 30 who met property qualifications. In 1928 all women over 21 were enfranchised on the same terms as men, and Britain became a mass democracy. This extension of the vote to working-class men, and eventually women, helped the development of the Labour Party, which formed its first government in 1924. As the Labour Party developed as an electoral force, the Liberal Party went into terminal decline, never forming a government after 1922 for the rest of the twentieth century.


The interwar years saw a series of minority governments or coalition National Governments dominate politics. This was closely related to the other main feature of the period: the economic problems that Britain was encountering in the aftermath of the war.


When the Second World War broke out in 1939, a national coalition government made up of Conservative, Labour and Liberal ministers united to win the war. After the end of the war a broad consensus about the role of the state, the management of the economy and the relationship between the government, industry and the trade unions emerged.


Both Conservative, Labour and Liberal politicians broadly agreed on economic and social policy throughout the 1950s and 1960s. The goal of full employment and the involvement of trade unions in pay negotiations were accepted by all parties.


But as economic performance declined at the start of the 1970s, and the number of working days lost to strikes and industrial protests increased, this political consensus began to change.


During the 1970s Britain was gripped by major economic crises. The consensus that had existed since the end of the Second World War broke down. Rising inflation led to waves of trade union unrest, which neither the Conservative or Labour governments were able to defeat.


By 1979 the election of Margaret Thatcher indicated an end to the post-war consensus and the its rejection by much of the population.
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In this theme you will consider the following:




•  A changing political landscape: how the fortunes of the Liberal, Conservative and Labour parties changed 1918–31, how they worked together as a National Government 1931–45, and the rise of consensus politics and challenges to it, 1945–79.


•  Responding to economic challenges: the post-war boom and depression 1918–39, the creation of a managed economy 1939–51 and the economic challenges of 1951–79.


•  Change and challenge in the workplace: the reasons for changing industrial relations 1918–39, changing working opportunities and conditions 1939–79, industrial relations 1939–79 and the reason for their breakdown in the 1960s and 1970s.
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TIMELINE






	1918 February

	Representation of the People Act






	1918 November

	Armistice signed with Germany, end of the First World War






	1919–20

	Post-war boom followed by slump






	1922 October

	David Lloyd George resigns; Bonar Law becomes prime minister






	1923 May

	Conservative government formed, led by Stanley Baldwin






	1924 Jan–Oct

	First Labour government formed, led by Ramsay MacDonald






	1924 November

	Conservative government formed, led by Stanley Baldwin






	1926 May

	The General Strike






	1928

	Representation of the People (Equal Franchise) Act






	1929 June

	Second Labour government formed, led by Ramsay MacDonald






	1929 October

	The Wall Street Crash






	1931 August

	Fall of Second Labour government; establishment of National Government; height of Great Depression






	1934

	Introduction of the Means Test






	1935 June

	Ramsay MacDonald resigns; Stanley Baldwin becomes prime minister






	1936

	Abdication crisis






	1937

	Neville Chamberlain becomes prime minister






	1939 September

	Outbreak of Second World War






	1940 May

	Establishment of wartime coalition government, led by Winston Churchill






	1945 July

	Labour landslide victory; Clement Attlee becomes prime minister






	1946

	Nationalisation of major industries begins






	1951 October

	Defeat of Labour government; Conservative government led by Winston Churchill






	1955

	Anthony Eden becomes prime minister






	1956 Oct–Nov

	Suez crisis






	1957 January

	Harold Macmillan becomes prime minister






	1957 July

	Macmillan makes his ‘Never had it so good’ speech






	1963

	The Profumo scandal






	  

	Alec Douglas-Home becomes prime minister






	1964 October

	Defeat of Conservative government; Labour government led by Harold Wilson






	1970 June

	Defeat of Labour government; Conservative government led by Edward Heath






	1974 Jan–Mar

	Edward Heath is forced to introduce a three-day working week






	1974

	Labour win two elections under Harold Wilson






	1976

	James Callaghan becomes prime minister






	1978–79

	Winter of discontent






	1979 May

	Defeat of Labour government; Conservative government led by Margaret Thatcher










1a: A changing political landscape
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Overview


Between 1918 and 1979, the political landscape of Britain changed significantly as a result of the challenges it faced from war, economic and technological changes and the desire for greater social equality. While the period from 1918–45 saw the decline of the Liberal Party and growth of Labour as the second major party, it also saw the Conservatives in government for most of time, whether in their own right or as part of a coalition.


In the years after the Second World War a political consensus developed in which the major parties tended to agree on principles such as economic intervention and the maintenance of social welfare. This may have been fading by the 1970s but was finally ended by the election of the Conservative government of 1979, which greatly supported the movement of free market forces.


This chapter explores the changing political landscape of Britain in the twentieth century and how the country’s political parties attempted to deal with the external and internal challenges that faced them through the following sections:





1  Changing party fortunes, 1918–31



2  The National Government, 1931–45



3  The rise of consensus politics and political challenge, 1945–79
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1 Changing party fortunes, 1918–31


Britain emerged from the First World War victorious but economically damaged. During the war Britain amassed £3.2 billion of war debts, mainly to the USA. This, together with the loss of world markets due to disruption to British trade, and the growth in the USA’s economic power would present British governments with serious economic problems, which would in turn shape the course of British politics.


This section explores the fortunes of Britain’s three political parties: the Liberal, the Conservative and the Labour Parties.


The political landscape in Britain was changed by the First World War (1914–18) and in the two decades after the end of the conflict the Liberal Party, which had been dominant before 1914, went into decline. The demise of the Liberals coincided with the growth in the popularity and size of the Labour Party. This new political party, which had emerged from the trade union movement, was based on working-class votes. The Conservative Party, which had been part of the wartime coalition, was electorally the most popular party of this period forming the government for much of the 1920s and dominating a National Government coalition during the 1930s.
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Note it down


In this section your notes should focus on how the fortunes of the parties changed during the interwar period. You could use bullet points (see page ix) to make notes on:





•  the status of the three main political parties in 1918



•  how the Liberal Party declined in support and influence



•  how the Labour Party developed



•  the work of the first Labour government and the reasons for its collapse



•  the reasons for Conservative domination between 1924 and 1929



•  the changing political landscape between 1929 and 1931.
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The Liberal Party in 1918


The Liberals believed in free trade and a limited role for government. They were a party of social reform. From 1906 onwards they had implemented state pensions, unemployment relief and the beginnings of state-provided healthcare (see page 68).


In the decade before the First World War the Liberal Party had dominated British politics, and had faced growing unrest over the issue of Home Rule in Ireland, the women’s suffrage movement and an increasingly militant trade union movement. All three growing conflicts were interrupted by the outbreak of war, preventing the Liberal government from being overwhelmed by them. However, after 1918, not only did the problems of Ireland and trade union unrest return (see page 43), but the appeal of the Liberal Party to its traditional voters, the middle classes and the artisan working class, began to decline. Even though the party had introduced major social reforms in housing and national insurance (see pages 58–9), the perceived party of social reform in Britain became the Labour Party.


The experience of the war had deeply divided the Liberals:





•  Many opposed the growth in the power of the state, particularly on the issue of conscription.



•  The war had resulted in a coalition with the Conservative Party from 1915 onwards. In 1916, when David Lloyd George became prime minister, many Liberal MPs believed he had abandoned the principals of the party and had become too close to the Conservatives.



•  In the election of 1918 Lloyd George campaigned against the many members of the Liberal Party who stood in independent opposition to him. This split the party’s vote (see Table 1, page 6) and they were never to recover.





The Labour Party in 1918


The Labour Party had evolved from the Labour Representation Committee of the Trades Union Congress (TUC), which the TUC set up in 1900 as the main organising body of the trade union movement. As a result, the party was closely tied to the unions who saw it as a useful tool in advancing working men’s pay and conditions through getting union-backed MPs into Parliament. In 1906 the Labour Party had nearly one million affiliated members, and returned 29 MPs to Parliament.


The party had 40 MPs after the 1910 General Election and after 1911 it became much easier for working-class politicians to be elected to Parliament when the Liberal government allowed wages for MPs. This meant that politics was no longer solely an activity for people who were already independently wealthy. The Representation of the People Act in 1918 saw the British electorate triple in size from 7.7 to 21.4 million, leading to a dramatic expansion in the party’s voter base.


The Conservative Party in 1918


The Conservative Party had been associated with the landed gentry in the nineteenth century, but electoral reform had forced the party to change and attract new supporters. By the end of the First World War the Conservatives presented themselves as a party of the middle classes and those members of the working classes who aspired to ‘better’ themselves through property ownership.
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Voting rights


The extension of voting rights had been ongoing throughout the nineteenth century with Reform Acts in 1832, 1867 and 1884. Pressure for full democracy increased in April 1917 when the USA joined the war. US President Woodrow Wilson had made spreading democracy a specific war aim and this put extra pressure on the government to extend the franchise. They did so in March 1918 with the Representation of the People Act. It ensured that:





•  Nearly all British adult men over the age of 21 had the vote.



•  Women over the age of 30 were enfranchised if they owned property or were a member of a local government register or married to a man who was.





The Representation of the People Act was followed by another in 1928, when women over 21 were given the vote on the same terms as men. Finally, in 1969, a further Representation of the People Act extended the vote to everyone over eighteen years of age.
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The Conservatives had been part of David Lloyd George’s wartime coalition from 1915 to 1918 and continued to support him as prime minister until 1922.


After 1918 a large proportion of their votes came from newly enfranchised property-owning women and the party actively encouraged their engagement with Conservative ideas.


The decline of the Liberal Party


In 1918, at the end of the First World War, the Liberal government had been in power since 1906. However, within four years of the end of the conflict the Liberals were a politically spent force and would never again form a government in the twentieth century.


Elections


The two elections in 1918 and 1922 were important events in understanding the decline of the Liberal Party.


By 1918 Liberal leader and prime minister, Lloyd George, had effectively split the party. The election of 1918 was fought between the ruling Liberal–Conservative coalition and the Labour and Liberal opposition parties. Table 1 shows the outcome.
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The Liberal–Conservative coalition won a landslide victory. However, the Conservatives within the coalition were by far the more popular political party, with over three times as many votes cast for them than for the Coalition Liberals. The effect on the opposition Liberals was catastrophic. They experienced a collapse in their vote, partly caused by the popularity of Lloyd George’s coalition and the promise of social reform, and partly as a result of the rise of the Labour Party (see page 7).


David Lloyd George


The immediate cause of the Liberal’s decline were the actions of David Lloyd George.


In 1918 Lloyd George was a national hero. He was credited by much of the country as the ‘man who won the war’, and as the tough negotiator who would be able to represent Britain at the Paris Peace Conference. He was a man of humble origins from north Wales and had made it clear that he was an enemy of privilege and no friend to the House of Lords, an unelected body of hereditary peers that sat at the apex of Britain’s class system.


Consequently, the news in June 1922 that he had been involved in a scandal selling knighthoods and peerages was deeply shocking. In the past, titles had been sold by government ministers to their supporters in industry for large donations, but it was done in a discreet and largely unnoticed fashion. Lloyd George’s trade in titles was run from a private office he established, and knowledge of the operation was widespread. During his six years as prime minister (1916–22) he sold 1,500 knighthoods and nearly a hundred peerages.


Several titles were freely given away to Fleet Street newspaper magnates, such as Lord Beaverbrook, so that they would turn a blind eye and not report the practice. When the 1922 honours list was announced there were several people on it who had criminal convictions for fraud and the press finally published the story. Lloyd George himself called the honours system corrupt, but the scandal did immense damage to his credibility. His decision to go to war with Turkey, if it sought to revise the terms of the peace treaty it had been forced to sign in 1918, further dented his credibility; his Conservative coalition partners disagreed with the policy. They decided that the looming crisis with Turkey was their opportunity to act.


A secret meeting of leading Conservatives was held at the Carlton Club, a private members club used by London political elites. At the meeting it was decided to abandon the coalition with the Liberals. As a result, the election of November 1922 was a disaster for the Liberals (see Table 2).
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Those led by Lloyd George (now the National Liberal Party) were reduced to 53 MPs, and while those opposition Liberals led by Herbert Asquith saw their share of the vote grow to give them 62 MPs, it was still too small an increase to prevent the party from further decline.


Lloyd George’s personal unpopularity by 1922 was partly the cause of the Liberals’ decline, but the growth in the popularity of the Labour Party had a much greater, long-term impact.
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David Lloyd George, 1863–1945
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David Lloyd George was a leading figure in the pre-war Liberal government elected in 1906, and held the office of chancellor of the exchequer from 1908 to 1915.


He grew up in Llanystumdwy, a small village in a remote part of north Wales. As a Welsh politician from reasonably humble origins he felt himself to be an outsider in British politics. He believed that by capturing public opinion and being popular with voters, he could make up for his lack of wealth and connections.


During the First World War (1914–18) Lloyd George became prime minister following Herbert Asquith’s indecisive leadership. He was widely credited with holding together the coalition government that he ledg and successfully managing relations with allies such as France and the USA until the armistice in November 1918.


Following his political downfall in 1922 Lloyd George continued to play an important role in British politics. He became the leader of the Liberal Party in 1926, even though the size of the party continued to dwindle. He spent the 1920s and 1930s attempting to find new political and economic solutions to the problem of unemployment. He was so unpopular with the Conservatives who were in office during 1924–29 and 1931–45 (as part of a National Government) that there was little possibility of him returning to office. He died in 1945.
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The rise of the Labour Party


Labour would win office twice in the 1920s, but the two Labour governments of the era were to prove disappointments to many of their working-class voters, who had huge expectations of what could be achieved.


Labour in government


The first Labour government was led by Ramsay MacDonald in 1924. It was a minority government and its election was seen as a deeply alarming development by many of the Conservative-supporting newspapers like The Times. The party was committed to parliamentary democracy and went to great lengths to demonstrate how moderate it was. Nonetheless, Labour’s opponents in the Conservative Party and the media liked to compare it to the repressive regime in Soviet Russia and suggested that there might be Soviet sympathisers among the cabinet.


One of the main problems that MacDonald and his government encountered was strained relations with the National Executive Committee of the Labour Party itself. MacDonald was forced to make harsh economic choices that affected the poorest voters and had to manage the threat of industrial action. As prime minister he had to compromise, but the party was critical of him for not being more radical. Because he was the head of a minority government, dependent on Liberal support, any attempt to introduce a more radical programme would have resulted in a withdrawal of this support and the collapse of the government. The government lasted for nine months, too short a time to introduce much legislation.


Measures that were passed included the Housing (Financial Provisions) Act 1924, which increased the amount of money available to local authorities to build homes for low-income workers.
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Ramsay MacDonald, 1866–1937


Ramsay MacDonald was the first British Labour prime minister. He led three governments between 1924 and 1935. He was born in Lossiemouth in north-east Scotland in 1866 and as a young man moved to Bristol and London where he became involved in radical socialist politics. He was elected as a Labour MP in 1906 and was on the left wing of the party until the end of the First World War. Throughout the First World War MacDonald was a pacifist but he visited France and witnessed the fighting first hand. He moved away from the radical left of the party after 1918 and became very suspicious of communism after the Russian Revolution. When he became prime minister in 1924 he was the first ever working-class leader of Britain.
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Government collapse


MacDonald’s government collapsed in the autumn of 1924 following a motion of no confidence which MacDonald only narrowly won. The motion against Labour came about following the decision of the Attorney General Sir Patrick Hastings to drop charges of incitement to mutiny against a socialist newspaper, the Worker’s Weekly. The newspaper had published an article by John Ross Campbell which broke the law by demanding that soldiers:




Refuse to shoot down your fellow workers! Refuse to fight for profits! Turn your weapons on your oppressors!





On 6 August, under pressure from backbench Labour MPs, the prosecution against Campbell was withdrawn and MacDonald was accused by both Liberal and Conservative parties of having secret communist sympathies. The case coincided with his attempts to normalise relations between Britain and the Soviet Union. A second motion was passed against the government, calling for an official inquiry into the withdrawal of charges against Campbell. MacDonald was forced to resign and call an election.


The General Election, October 1924


Labour’s election campaign was marred by the publication of a damaging story in the Daily Mail. The Conservative-supporting newspaper claimed that a letter from the Russian communist revolutionary Gregori Zinoviev to the British Communist Party had been discovered. The letter, a forgery, appeared to be an incitement to revolution, telling British communists to prepare to overthrow the government. The Daily Mail hoped it would dissuade people from voting for Labour or any other left-wing party.


Although the Labour vote didn’t collapse (see Table 3), it lost the election and the Conservative Party, under Stanley Baldwin, was able to form a majority. This election was a defining moment for the Liberal Party as a declining force in British politics; it saw a 12 per cent decline in its share of the vote and a loss of 118 seats. The Conservatives were the clear beneficiaries, taking seats from both the Liberal and Labour parties. First-time Labour voters in the previous election who were now disappointed with Ramsay MacDonald switched to the Conservatives, as did Liberal voters who had lost faith in the ability of the party to revive itself.
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Conservative dominance, 1924–29


The new Conservative government formed by Stanley Baldwin presented itself as an alternative to the Labour Party and the ‘threat’ of socialism in Britain. However, Baldwin wanted to be seen by the country as a moderate politician who could appeal to all social classes. He believed that the rhetoric of ‘class war’ that had emerged during the brief MacDonald government was deeply damaging to Britain and he discouraged the Conservative Party from attacking Labour as secret agents of the USSR (which had been alleged in Conservative-supporting newspapers during MacDonald’s administration). When he was confronted with a general strike in 1926 (see page 44–5), and defeated it, he attempted to be conciliatory to the strikers, saying:




Our business is not to triumph over those who have failed in a mistaken attempt.
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Reform to Labour’s funding


Despite Baldwin’s appeals to his party for peaceful coexistence with the Labour Party, many Conservative MPs still believed that the government should use all methods at its disposal to weaken it and the trade unions. In 1925 a private member’s bill to prevent the Labour Party from receiving a political levy from the trades unions, which would have financially crippled it, was opposed by Baldwin in the House of Commons and subsequently failed. He was more concerned with political stability than political conflict between the parties.


Baldwin’s conciliatory approach could not be sustained in the long run. Following the General Strike (see pages 44–5) he yielded to pressure to introduce laws reducing Labour’s funding from the unions. In the 1927 amendment to the 1906 Trade Disputes Act the political levy on union members could no longer be automatically deducted from their union membership and passed to the Labour Party; instead, members had to agree to pay it. Over one-third chose to opt out, causing the Labour Party’s finances to decrease by 35 per cent.


[image: ]






A changing political landscape, 1929–31



In March 1929 Baldwin held a general election. Although the Conservatives won the largest share of the popular vote, this did not translate into an overall majority of seats (see Table 4). MacDonald returned to power but his government would not prove strong enough to weather the economic storms that were to break later in the year (see page 29).
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Social reforms


MacDonald had much more ambitious reforms planned in his second ministry than his first. His lack of an overall majority once again made him dependent on the Liberals to pass legislation, though he had a largely co-operative working relationship with them. As a result, the government was able to pass some social reforms:





•  The 1930 Housing Act cleared three-quarters of a million slum houses and replaced them with modern homes by 1939.



•  The Coal Mines Act of 1930 attempted to ensure better pay for workers and more efficient pits, but the weakness of the legislation ensured that the mine owners could ignore it.



•  MacDonald amended the Unemployment Insurance Act, giving the government powers to create public works schemes to alleviate unemployment. It was funded with £25 million of government money.





The government was also limited in what it could achieve by the growing economic crisis. MacDonald referred to the next two years of crisis in Britain as an ‘economic blizzard’, and it had significant political repercussions as well.


Economic problems


During the summer of 1931 there were rumours that the forthcoming budget would be unbalanced – meaning that the government had plans to spend more than it could afford – leading to an increase in borrowing. This caused the banks in America to engage in panic selling of the pound, exchanging it for other currencies, and the pound slumped in value. In order to reassure financiers that their investments were safe, the government proposed spending cuts and tax hikes, the main measure being the introduction of a 10 per cent cut in unemployment assistance. This would keep the value of the pound stable, but caused hardship for many of Britain’s poorest. The threat of this cut split the Labour Party and MacDonald’s cabinet, leading the government to resign on 24 August 1931. After negotiating with the other main political parties, and at the urging of King George V, MacDonald formed a National Government from the three main parties with himself as prime minister. Both MacDonald and his chancellor of the exchequer, Lord Philip Snowden, were viewed as traitors to the Labour Party, which passed a motion expelling them. They formed a new National Labour Committee which was designed to sponsor Labour parliamentary candidates who supported the National Government.
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MacDonald and the American banks


The second Labour government under Ramsay MacDonald struggled to finance its spending commitments and, by 1931, came under intense pressure from international banks, particularly in the USA. The banks did not want the British government to spend large sums on welfare, even though unemployment in Britain was rising. These banks had significant power over Britain as they held large currency reserves of the British pound, due to the amount of debt Britain had accrued by borrowing from the USA to finance the war.


These banks could lose millions at a stroke if the value of the pound went down and so did not want to see economic policies introduced that might cause that to happen. A high-spending government would either have to tax or borrow, both actions that would reduce the pound’s value and cause the Gold Standard (see page 29) to be readjusted.
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2 The National Government, 1931–45



Following the government’s collapse in August, MacDonald called an election in October 1931. He did so reductantly, fearing it would destroy the Labour Party, but the Conservatives in the National Government insisted on one.


The National Government won the election by a huge majority but it was the Conservatives within it who won the vast majority of the seats. MacDonald continued as prime minister, though only as a figurehead. The share of the vote for the Labour Party slumped as many voters believed the party was putting its own interests and those of the unions before the national interest. By expelling MacDonald and Snowden the Labour Party appeared to be rejecting a coalition of national unity on party political grounds The National Government presented them as ‘running away’ from difficult decisions. The National Government was to last until 1945, although various elections during this period showed shifting support for the different parties, as shown in Table 5.
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Note it down


Using a spider diagram (see page x), make notes on the following topics:





•  The experience of the National Government during the economic crisis (see also pages 30–32).



•  The problems faced by The National Government over rearmament.



•  The role of the National Government during the Second World War.





In this section you will see that there are all related to one another. You should try to show these connections in your spider diagram. Evaluate which issues presented the National Government with the greatest challenges.
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MacDonald’s premiership, 1931–35


MacDonald’s premiership was dominated by the economic challenges caused by the Great Depression (see pages 29–30) and attempts to alleviate it and effect an economic recovery. The government made some moves to rearm, given the increasingly threatening situation in Europe and the rise of fascism there. At the same time it had to deal with the threat of fascism at home.


Economic policy and its effects


The National Government implemented the spending cuts which had caused the previous government’s downfall. Public sector pay cuts of 10 per cent were felt to be so harsh that they led to a mutiny in the Royal Navy at the naval base of Invergordon.


In addition to the spending cuts the National Government was able to introduce a limited number of tariffs. By 1933 the end of the Gold Standard and low interest rates had begun to stimulate an economic recovery (see page 31). The National Government’s popularity increased, even though MacDonald became increasingly isolated in the government and was replaced as prime minister by Stanley Baldwin in 1935.


Labour Party opposition


The Labour Party managed to reorganise itself throughout the first half of the 1930s and become the official opposition to the government. Under its new leader, Clement Attlee, it managed to gain 154 seats at the 1935 General Election, demonstrating that the Labour vote was rapidly recovering from the slump in votes in 1931.


The growth in extreme political ideas


Throughout the 1930s there was in increase in support for extreme ideas on both the far left and far right. Communist and fascist parties saw an increase in their membership as more people became convinced that liberal democracy no longer had the answers to the economic crisis.





•  By 1934 the British Union of Fascists had 50,000 members.



•  In the same year the Communist Party of Great Britain only had 9,000 members but throughout the 1930s organised the National Unemployed Workers’ Movement, which some historians have argued represented hundreds of thousands of unemployed men.



•  Many intellectuals on the left, including Fabians Sidney and Beatrice Webb, visited the Soviet Union, believing that communism was an economic success. This had an impact on Britain from the 1930s onwards as these influential figures argued convincingly in favour of state planning.
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Oswald Mosley, 1896–1980


One charismatic and forceful Labour MP, Oswald Mosley, was inspired by the seemingly dynamic economic policies of Mussolini’s Italy. In Italy, since 1922, a fascist one-party state had established itself under the charismatic dictator Benito Mussolini.


Mosley, frustrated at the National Government, resigned and set up his own organisation – the New Party – in March 1931. Mosley’s New Party put forward a manifesto for change, titled the ‘Mosley Memorandum’, which temporarily attracted support from both the right and left. It demanded a co-ordinated national economic plan to deal with the economic crisis. Moderates from the Conservative and Labour parties who had supported him soon withdrew their backing when Mosley established his own group of violent enforcers called ‘Biff Boys’, who were given the task of attacking his opponents.


In 1932 Mosley drew all the fascist organisations in Britain together with the New Party to form the British Union of Fascists (BUF). The union’s impact on the political system overall would prove to be negligible, but it briefly presented a challenge to law and order. The National Government passed the Public Order Act in 1936, banning groups from wearing uniforms and requiring permission for marches and demonstrations. Mosley never became a threat to the National Government and his movement began to decline after 1936.


Even though his movement dissipated after 1936, Mosley’s BUF demonstrated that there were significant numbers of people (the movement had 50,000 members at its height) who did not believe the existing political system of parliamentary democracy was capable of working at the height of the depression.
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Disarmament and rearmament



From 1933 onwards many British people began to take a much more active interest in world events. The appointment of Adolf Hitler as chancellor in Germany caused public opinion to divide between rearmament and disarmament. With traumatic memories of the previous war, hundreds of thousands of people were attracted to organisations such as the Peace Pledge Union, and the League of Nations Union that supported peaceful resolution to conflicts.
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The Peace Ballot and Pledge


In 1934, millions of householders were asked their opinions on war and security. This Peace Ballot was organised by the League of Nations Union. The 11 million people who answered the questions made it clear that they supported the idea of ‘collective security’.


The Peace Ballot was followed by the Peace Pledge Union, organised by Father Dick Sheppard, the Cannon at St Paul’s Cathedral. Over 100,000 men and women sent Sheppard postcards pledging to oppose war.
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By the early 1930s, the idea that Germany had been solely responsible for the First World War was rejected by most British politicians and civil servants. Instead a different view prevailed, one which blamed arms races and secret treaties. The government negotiated with other powers to disarm at the World Disarmament Conference, which ran for two years between 1932 and 1934. However, the conference broke down in 1933 when Germany withdrew, expressing its right to rearm to levels equal to France, Britain and the USA. Following Germany’s exit, Baldwin argued not for disarmament but for agreements limiting arms so that nations could have ‘parity’.


Britain started to rearm from 1934 onwards:





•  The RAF was increased in size to 40 squadrons, a recognition of the importance of air power in future conflicts.



•  The British Army was reorganised.



•  The Royal Navy was expanded



•  The munitions industry was developed in partnership with private capital.





Stanley Baldwin’s premiership, 1935–7


By 1935 Ramsay MacDonald was very unwell and was forced to step down. He was replaced by Baldwin who became prime minister for a third time and called a general election in October that year. In his manifesto he pledged new houses, jobs and government help for the most economically deprived parts of the country. He also pledged to improve Britain’s defences, although there was little desire among the public for rearmament.


Labour and collective security


Throughout Baldwin’s premiership and Neville Chamberlain’s which followed, the opposition Labour Party continued to be divided on the question of peace and security. The left of the party believed that rearmament made war more likely, not less. The centre of the party, led by Clement Attlee, argued that collective security would make war impossible, and therefore rearming unnecessary. However, world events made collective security seem more and more difficult.
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The abdication crisis


In January 1936, when King George V died, a constitutional crisis began that was to dominate political events that year.


After George V’s death his eldest son Edward VIII inherited the crown. Edward was a handsome and popular monarch, his glamorous playboy lifestyle as heir to the throne had made him popular with the public. His many affairs with married women were known about by the government but the details were hidden from the general public by self-censoring newspapers. Public attitudes towards sexual morality in the 1930s were very conservative and an heir to the throne behaving in such a manner would have brought the monarchy into disrepute.


In the months after his coronation rumours circulated about a relationship with an American divorcee, Wallis Simpson. In November 1936 he informed Baldwin of his intention to marry her and Baldwin replied that the marriage would be seen by many in Britain as morally unacceptable. The British cabinet and the Dominions rejected even a morganatic marriage and presented him with three choices: abandon the marriage plans, marry and risk a constitutional crisis with the government, or abdicate. He chose the final option on 11 December 1936, making way for his brother, George VI.
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World events


1935: Italian invasion of Abyssinia


1936: Hitler reoccupies the Rhineland


1936: Outbreak of the Spanish Civil War


1937: Japan invades China


1938: Hitler annexes the Sudetenland and Austria
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In 1936 when Hitler broke the Treaty of Versailles by reoccupying the Rhineland, Labour opposed the threat of economic sanctions against Germany but the National Government was divided between taking action and backing down. Harold Nicholson, a National Labour MP and a former diplomat who attended the Paris Peace Conference, summed up the situation in 1936 in his diaries. He believed that any threat of action against Germany would result in a general strike in Britain. The British and French governments did nothing following Germany’s actions but Baldwin continued with rearmament.


Chamberlain’s premiership, 1937–40


Stanley Baldwin resigned in 1937 due to ill health, making way for his chancellor, Neville Chamberlain, to become prime minister. Chamberlain was prime minister during a period of economic recovery, falling unemployment and stable prices (see page 31).


The main problem that the National Government under Chamberlain, and Baldwin before him, would face was that the breakdown of international order made war increasingly likely, but the antiwar movement in Britain was growing in strength, a factor which made rearmament more difficult.


Due, in part, to a desire for peace among the electorate, the National Government allowed a series of concessions to Nazi Germany, as Hitler continued to tear up the Treaty of Versailles.
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Neville Chamberlain, 1869–1940
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Neville Chamberlain was the son of Joseph Chamberlain, one of the most high profile and successful political figures of the Victorian and Edwardian era.


Chamberlain became Lord Mayor of Birmingham in 1915 and served as Director of National Service in 1916, administering conscription in Lloyd George’s government. He stood for Parliament in 1918 and as an MP concerned himself with public health and social reform. He sat on the Unhealthy Areas Committee and understood the problems of inner-city slums. By 1923 Chamberlain was chancellor of the exchequer in Stanley Baldwin’s first administration and the two men maintained a strong political allegiance for the next twelve years. He became chancellor of the exchequer in the National Government, before succeeding Baldwin as prime minister in 1937.


He is often associated with the policy of appeasement of Hitler; on three occasions he went to Germany in 1938 to try to prevent an outbreak of war by negotiating with Hitler. The Munich Agreement of September 1938 granted nearly all of Hitler’s demands and allowed him to annex the Sudetenland of Czechoslovakia. Chamberlain returned to England promising ‘peace for our time’. When Hitler attacked Poland in September 1939 Chamberlain declared war on Germany.


After a failed military expedition to Norway in April 1940, Chamberlain resigned, having lost the support of many MPs. He died later that year.


Chamberlain has been characterised as weak, vacillating and naive following his dealings with Hitler, but to see him in such a simplistic light can be misleading. Chamberlain had written several times throughout the 1930s that Hitler could not be trusted, that he was a grave threat to international peace and that war with Germany ultimately might be necessary. Chamberlain had also argued with Baldwin that rearmament should have been made the central feature of the 1935 General Election, showing that he was more committed to the possibility of war than some historians have suggested.


As chancellor and prime minister he misjudged the scale of military spending required. He increased military spending by £120 million in 1934, believing that this figure would cover the next five years of expenditure. By 1937 the figure had increased to £1.5 billion, but two years later when war began, this was still an underestimate of the total amount required.
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Chamberlain replaced



Following the declaration of war in September 1939, the British Expeditionary Force was mobilised to France. There followed a seven-month stand-off during which little action ensued. The ‘Phoney War’, as an American journalist christened it, ended in April 1940 with a bungled British attempt to save Norway from German invasion and Norway’s subsequent occupation by Germany.


In the resultant Norway debate in Parliament on 7 May, Chamberlain faced the full fury of both opposition and government benches for the incompetent handling of the war. He narrowly won a vote of no confidence but recognised it in real terms as a defeat. On 9 May Chamberlain attempted to form a new coalition government but the Labour Party refused to serve under him, leaving either Lord Halifax or Winston Churchill. Halifax realised he could not run the war from the House of Lords and stepped aside to give the job of prime minister to Churchill who came to power the day of Germany’s invasion of France.


Churchill’s wartime cabinet was a mix of Conservative, Labour and Liberal politicians. Churchill included Labour politicians mainly from the centre and right of the party who he believed were ready to place the national interest above party politics.


Churchill’s premiership, 1940–45


On 13 May, as the situation deteriorated in France, Churchill made his first speech as prime minister to the House of Commons offering ‘blood, toil, tears and sweat’.


By the end of the month the situation had worsened. As the German Army swept through France, the British Expeditionary Force withdrew to Dunkirk, trapped on the beaches and awaiting evacuation. German successes brought about a new political crisis in government as some ministers considered whether or not to make peace. On 25 May Halifax proposed a negotiated settlement with Germany, clashing with Churchill. Churchill called a meeting of the whole cabinet arguing that Britain would be a ‘slave state’ if it agreed to German terms. Much of the popular view of Winston Churchill, his stoicism in the face of adversity, was formed during this debate and subsequent speeches to Parliament.


Churchill’s wartime cabinet served under him until the war ended in May 1945. At the end of the Second World War, social, cultural and political changes were accelerated by the pressures of total war that had affected every part of society.




[image: ]


Winston Churchill, 1874–1965
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Winston Churchill was born into the aristocratic Marlborough family. He stood as a Conservative MP in the 1900 election but when the party proposed to abandon free trade he crossed the floor to the Liberals, becoming a close political ally of Lloyd George.


During the war he served as First Lord of the Admiralty and was in charge of planning the Gallipoli Campaign against Turkey, which ended in a humiliating disaster, costing thousands of British, French and Australian lives.


After the war Churchill returned to government but lost his seat in 1923 and stood as an independent MP in 1924, returning to Parliament and joining Baldwin’s government as a Conservative. He served as chancellor of the exchequer, controversially returning Britain to the Gold Standard (see page 29) and was part of the government until 1929, when the government was defeated.


Churchill became politically isolated for ten years. During this time he sat as a Conservative MP but was not invited to join the cabinet of the National Government. He was unpopular with MacDonald and Baldwin for the following reasons:





•  India: Britain’s control over her largest imperial possession, India, had declined to the point where Home Rule seemed inevitable. Churchill opposed Home Rule but had very little support outside his own small circle of political allies.



•  Support for Edward VIII: Churchill believed that Edward should remain king (see page 12) and even proposed forming a new ‘Kings Party’ to oppose Baldwin.



•  Disarmament: As former First Lord of the Admiralty and briefly a colonel in the First World War, Churchill was instinctively supportive of military spending. He also opposed the policy of appeasement.





He returned to office in 1939 and served as prime minister until the end of the war in 1945. Churchill was prime minister again between 1951 and 1955, when he resigned due to old age and ill health. He died in 1965 and was honoured with a state funeral.
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3 The rise of consensus politics and political challenge, 1945–79



The post-war period between 1945 and 1979 saw the rise and the decline of a particular style of party politics. The term ‘consensus’ has been used to describe the broad agreement between both parties on the running of the economy and the development of the welfare state. Both Labour and Conservative parties up to the early 1970s believed in:





•  attempting to achieve full employment, even though this might allow a degree of inflation




•  a mixed economy, with heavy industry, railways and other parts of the national infrastructure in state ownership



•  a welfare state and a national health service



•  co-operation between the government, industry and the trade unions in managing wages and prices.





In economic terms, the consensus was to the moderate left of the political spectrum, with policies devised by Labour following the party’s landslide victory in 1945 being continued by the Conservatives when they came to power, specifically a commitment to full employment. Equally, both parties endorsed a foreign and defence policy which sat comfortably to the right of the political spectrum, with Britain confronting the USSR in the Cold War and investing in nuclear weapons.


This section explores the gradual decline of this consensus and the political polarisation that occurred by 1979.
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Note it down


In this section the key theme is the political consensus that existed between the two parties for much of the post-war period.





1  Make notes using the 1:2 method (see page x) on what made politics consensual and why this consensus came to an end.



2  There are several different Labour and Conservative governments mentioned. Using a spider diagram (see page x) make notes on:








•  the areas that both parties agreed on



•  the problems and challenges that both parties faced after the war



•  the areas that both parties disagreed on.
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The 1945 General Election


In May 1945, following the defeat of Nazi Germany, the Labour Party signalled its intention to withdraw from the coalition. In July 1945, a general election was called.


Churchill believed that he would be rewarded by a grateful British public for his wartime service, and his manifesto focussed heavily on foreign policy. There were bitter memories of the Conservative pre-war governments and economic hardship, not helped by Churchill’s rather crass claims that a post-war Labour government would rely on a ‘gestapo’ in order to police its planned social reforms. The Labour manifesto, ‘Let us face the future’, promised action on housing, jobs, social security and a national health service, and resulted in a landslide victory, as Table 6 shows.
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The Labour Government, 1945–51


Labour achieved a considerable amount in its first five years of government and its social reforms were popular with much of the country. The main reforms were:





•  the establishment of a National Health Service (see pages 71–2 for more details)



•  the National Insurance Act (see page 63 for more details)



•  the National Assistance Act (see page 63 for more details)



•  the Housing Act 1949 which extended local authority’s powers to build public sector housing for all income groups.



•  the implementation of the Education Act 1944 (see pages 82–3 for more details).





After its landslide win in the 1945 election, the Labour government went on to win another election in 1950, which saw its majority slashed to just five seats (see Table 7), despite polling over one and a half million more votes than the Conservatives.
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Reason for decline in Labour’s vote


Some of Labour’s lost seats in 1950 were due to the 1949 House of Commons (Redistribution of Seats) Act, which reduced the number of Labour safe seats by redrawing constituency boundaries. But it was also the decline of its popularity with middle-class voters that saw Labour gain fewer votes. In addition to this, the overall size of the working class was shrinking, with 78 per cent of British society identifying themselves as being working class in 1931, and only 72 per cent viewing themselves as working class in 1951. More people considered themselves to be living middle-class lifestyles as the 1950s began and they were less inclined to vote for the Labour Party or be a member of a trade union.


The main causes of dissatisfaction with Labour were:





•  Rationing: wartime food and fuel rationing continued after the war, with some items such as bread that were not restricted during wartime becoming rationed in peacetime (see page 135).



•  Austerity: the Labour Party seemed unable to revive Britain’s struggling economy in the immediate post-war years (see pages 32–3).



•  Taxation: the standard rate of taxation in 1949 was nine shillings in every pound (45 per cent), and the top rate of marginal tax for high earners was 90 per cent.





The 1951 General Election


Following the 1950 election, Prime Minister Clement Attlee found it increasingly difficult to control the Labour government. By 1951 he was exhausted by five years of government and many of his most able ministers fell ill or died in office. When Foreign Secretary Ernest Bevin died in 1951, the party lost one of its most able and talented ministers. In addition to this, the party had become divided over budget cuts. Labour’s chancellor Sir Stafford Cripps had resigned in October 1950 due to ill health, depriving Attlee of two of his most experienced ministers in just over six months of each other.


In 1950 Britain became involved in the Korean War to protect South Korea as part of the new United Nations force. The war resulted in a huge increase in military spending and the new chancellor Hugh Gaitskell announced an ‘austerity budget’ in 1951. This involved the introduction of prescription charges for glasses and dentistry, and resulted in the resignation of Aneurin Bevin, the minister for labour and the pioneer of the National Health Service. Attlee had previously been skilled at defusing feuds within the party but, by 1951, he lacked authority. He called an election in October 1951 and lost to the Conservative Party (see Table 8). Although Labour gained more votes it won fewer seats because of the nature of the constituency structure in Britain and the first-past-the-post system. Labour voters tended to be concentrated in fewer, mainly urban, constituencies. Indeed Labour votes outnumbered Conservative votes by 250,000. However, the Conservatives won 26 more constituencies and so formed the next government.
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Not only was the Labour Party exhausted and divided, but the Conservatives offered to preserve the main features of the welfare state, and also to return the country to prosperity.


Conservative dominance, 1951–64


For the next 13 years the Conservative Party would dominate British politics and win two further general elections in 1955 and 1959. The main thrust of their policies were not much different to those of Labour, so much so that in 1954 The Economist used the term ‘Butskellism’ – a mixing of the names of the Conservative chancellor between 1951 and 1955, R. A. Butler, and Labour shadow chancellor Hugh Gaitskell – to describe the economic and welfare policies associated with the post-war consensus.


Winston Churchill returned to Downing Street for four years, just as the final wartime rations and restrictions came to an end. Churchill was 76 years old when he returned to power and many of his cabinet colleagues observed that the dynamism and drive he had exhibited during the war years appeared to have gone. Instead, Churchill acted more as a ‘caretaker’ prime minister, while the ministers within his government gradually came to prominence.


Eden’s government, 1955–57


Even though Churchill suffered a stroke in 1953, he still managed to remain in office until retiring in 1955. His replacement was Anthony Eden, a relatively young and popular politician with an impressive wartime record as Churchill’s foreign minister. He called a general election in May 1955 to ensure that he had a strong mandate. The election results indicated that the British public approved of the Conservative Party’s management of the economy (see Table 9). By July 1955 Britain had the lowest unemployment figures in its recent history, with only 215,000 people out of work, accounting for just over 1 per cent of the workforce.
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Within a year, however, Eden had become embroiled in a foreign policy disaster that forced him from office.


The Suez Crisis


Britain had maintained a presence in Egypt since the nineteenth century to protect the Suez Canal (part owned by Britain and France), which was its route to India. After Indian independence in 1947 the canal was used as a means of shipping oil to Britain, Europe and America.
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The nationalist president of Egypt, Gamal Abdul Nasser, stated that the canal should be in Egyptian hands and that he would be willing to pay British shareholders a fair price for it. Eden reacted with suspicion and hostility and, when Nasser occupied the Canal Zone on 26 July 1956, his close relationship with the USSR convinced the British that the canal would soon fall into Soviet hands.


When France and Israel invited Britain to take part in an invasion of the Suez Canal Zone, Eden agreed in secret to participate. He was motivated by a desire not to be humiliated by Nasser and knew his standing in the Conservative Party depended on presenting a strong image as an international statesman.


When the invasion began on 5 November 1956, US President Eisenhower, who had not been consulted on Britain’s intentions, reacted angrily and felt deceived. He threatened to sell America’s reserves of British currency and collapse the value of the pound. Faced with the possibility of economic crisis, Britain was forced to withdraw and Eden resigned in January 1957. The outcome of Suez was a significant reduction in British world power and a recognition that it could no longer act independently without seeking US approval.


Macmillan’s Britain, 1957–63


Eden’s replacement was Harold Macmillan, his chancellor of the exchequer. A mixed economy (see page 34), rising living standards (see page 137), low unemployment and declining social inequality (in 1957 British wages and living standards were at their most equal in the twentieth century between the rich and the poor), made the Macmillan government very popular. In the 1959 General Election the Conservatives increased their majority (see Table 10).
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Dissent on the right


In 1959 Chancellor Peter Thorneycroft, Treasury Minister Nigel Birch and Financial Secretary to the Treasury Enoch Powell all resigned. The three men believed that Macmillan’s government was spending too much and storing up economic problems for the future. They were convinced that inflation, not unemployment, posed the greatest threat to the economy; these were views different to those held by most economists and politicians in the late 1950s. They proposed spending cuts, tax rises, an end to subsidies to nationalised industries, and other measures to take excess money out of the economy that they claimed was the cause of inflation. The resignation of the three men was an embarrassment to the government, but during a period of low unemployment and relatively low inflation, their exit made little impression on the wider public. In the next two decades inflation would become one of the most fundamental issues in British politics and economics and their ideas would come to enjoy far wider support in the Conservative Party.



‘Night of the Long Knives’


By 1962 the popularity of the Conservative Party was declining. Macmillan’s privileged background and the large number of upper-class cabinet members (there were 35 former Etonians in his government) meant that many people perceived the Conservatives as out of touch. The Labour Party under Gaitskell, and then Harold Wilson, argued that privileged aristocratic Conservatives who had risen due to their connections, not their ability, were holding Britain back. The dramatic increase in consumer spending had resulted in a series of unforeseen economic problems (see page 34) and Macmillan needed to demonstrate that he was in control of his government.


In what became known as the ‘Night of the Long Knives’, Macmillan sacked seven ministers from his cabinet and replaced them with younger men. Part of his reason for doing this was an image problem that the Conservatives had developed. They were seen as ageing and privileged, instead of young and meritocratic. In the early 1960s television and the newspapers were dominated by youth culture and in America a young president, John F. Kennedy, had become very popular. Youth was thought to be in keeping with popular feelings among the electorate. Macmillan was briefly perceived as ruthless, but the sudden and widespread sackings proved popular with the public, demonstrating that he was capable of taking action.


Scandal


Another area where the Conservatives were starting to be mistrusted was the issue of national security. At the height of the Cold War three high-profile spy scandals rocked the government (see box, page 19).
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Spy scandals


1 John Vassall


Between 1952 and 1962 John Vassall, a naval attaché at the British embassy in Moscow, was blackmailed by the KGB – the security agency for the Soviet Union. He passed on large quantities of top-secret information on the British Royal Navy and was caught when Soviet spies defected to the West and gave MI6 Vassall’s name.


2 Harold ‘Kim’ Philby


In January 1963 one of Britain’s most senior intelligence agents, Kim Philby, defected to the USSR. He was the head of British Counter Intelligence and had been under suspicion of spying for the USSR since the early 1950s. As Foreign Secretary in 1955 Macmillan had publicly announced that he had investigated Philby and exonerated him. It was hugely embarrassing to Macmillan when it was revealed that Philby had defected to the USSR. Because of the Official Secrets Act, it was not revealed until 1968 that Philby had held such an important office within MI6.


3 John Profumo


Less than six months later, in June 1963, the government’s secretary of state for war, John Profumo, admitted to having had an affair with Christine Keeler (see page 99). He had previously denied the affair to Macmillan, who had believed him. When it transpired that she had also had a relationship with a Russian attaché, Yevgeny Ivanov, the press focussed on the spy angle to the story (though it is doubtful there was any security risk).


[image: ]





Sir Alec Douglas-Home


Ill health and the stress of mounting problems forced Macmillan to resign in October 1963. His replacement was Sir Alec Douglas-Home. Home was regarded by most of his party to be a skilled administrator and an astute politician, but he suffered from an image problem that would damage the Conservatives’ chances in the next election. Home was a member of the House of Lords and had the title of Earl (which he renounced when he became prime minister). Satirists on television and in magazines like Private Eye ridiculed Home for his aristocratic manners.


Wilson’s government, 1964–70


Harold Wilson had been the leader of the Labour Party for a year by the time he won the general election of 1964. He presented the party as meritocratic and classless, comparing it to public perceptions of the Conservatives. During the election Wilson effectively used the television to present himself as the face of modern Britain. However, despite the problems that the Conservatives faced, Labour won by a slender majority of four seats (see Table 11), meaning that if Harold Wilson wished to bring about major policy changes, a new election would have to be called.
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Wilson’s plans, Wilson’s problems


Harold Wilson and his chancellor, James Callaghan, discovered within their first few days of office that Britain’s economic problems were far worse than they had previously thought. The previous chancellor of the exchequer, Reginald Maudling, had delivered generous tax cuts and spending promises in the Conservatives’ last budget and left the country with an £800 million budget deficit. This presented Wilson with a dilemma. He had promised to improve pensions and build half a million new homes a year. In addition to this Wilson was determined to maintain Britain’s military presence overseas, which accounted for over one-fifth of all Britain’s spending in the 1960s.


Wilson did not wish to abandon his commitments to either social reform or Britain’s prestige. The only other option to lessen the pressure on the economy was to devalue the pound. This would have allowed the British government to pay off its debts more easily and aided exports but Wilson was unwilling to do this. He did not want Labour to be seen as the party of devaluation. However in 1967 he was forced to devalue the pound anyway (see page 37), which was a huge embarrassment for the government and led to the resignation of Callaghan as chancellor.


Wilson’s achievements


In 1966 there was a second general election. Wilson got the majority that he needed (see Table 12, page 20).
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Wilson’s government achieved significant social and educational reforms in its six years in office:





•  A series of new universities and polytechnics were built (see page 88).



•  The Open University was established (see page 88).



•  The laws on abortion (see page 113), homosexuality (see page 102) and the death penalty were liberalised.





However, much of this was undermined by the economic problems that were endemic in Britain throughout the decade (see page 34). The sense of optimism that dominated British politics and influenced public opinion in 1964 was all but gone by 1970, and instead there was a widespread feeling that the promises of the Wilson years had gone unfulfilled.


Wilson and his cabinet


Harold Wilson’s government declined in popularity towards the end of the 1960s as unemployment began to steadily grow and the number of days lost to strikes increased. Wilson became increasingly suspicious of government ministers who were popular in the party or with the trade unions, believing they might replace him as prime minister. Roy Jenkins, James Callaghan and Barbara Castle were all seen as possible contenders for Wilson’s job. The decline in morale in Wilson’s cabinet that resulted from his mistrust of his ministers had serious consequences. In 1969 legislation to curb the numbers of unofficial strikes was proposed by Barbara Castle at Wilson’s behest (see page 50), but Wilson feared that Callaghan, a union loyalist, might use the confrontation that would ensue to replace him. The legislation was never enacted and partly as a consequence of this, Britain endured a decade of rising strikes and union unrest. In 1970, despite predictions that Labour would win a third term, the Conservative Party under Edward Heath defeated Wilson (see Table 13).
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Heath’s government, 1970–74


Edward Heath attempted to bring about a radical political change from 1970 onwards. He sought to break with the post-war consensus on the size of the state and the commitment to full employment.


Prior to the 1970 election Heath and his shadow cabinet met at the Selsdon Park Hotel and planned a new manifesto. Following his election victory Heath’s government began to introduce the policies from the Selsdon meeting. Heath referred to the change in direction that he wanted the country to take as a ‘quiet revolution’. He believed that by removing the state from people’s lives they would become more enterprising. A first budget from Chancellor Anthony Barber featured tax cuts and government spending cuts (see page 36). Heath ended Wilson’s incomes policy, believing that wages should be set by the market, not by government.


The Barber budget (referred to by the press as the ‘Barber Boom’, because of the large tax cuts) failed to cure Britain’s growing economic problems and fuelled inflation. Heath was forced within eighteen months of taking office into a U-turn in policy and had to increase intervention in the economy over the next two years of his time in office.


Heath’s biggest problem was the government’s relationship with the trade unions (see page 51). By 1974 Heath’s government had endured two miners’ strikes and he faced criticism from both the opposition and his own party. Wilson accused Heath of attempting to strip away union rights, but his critics within the party on the right saw Heath as a ‘traitor’, betraying the promises made in 1970 at the Selsdon Park meeting. Several Conservative MPs, including Keith Joseph and Nicholas Ridley, formed the ‘Selsdon Group’ within the party, which was dedicated to introducing free market policies and reducing state intervention.
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Edward Heath, 1916–2005




[image: ]




Edward Heath, like Margaret Thatcher who would succeed him, was one of the few Conservative prime ministers of the twentieth century not to come from wealth and privilege. His father was a builder from Kent and his mother a chamber maid. He attended Balliol College in Oxford on a scholarship and had a successful military career during the Second World War, rising to the rank of lieutenant colonel. Heath stood for Parliament in 1950 and during the election campaign supported Margaret Roberts (later to be Margaret Thatcher). When Home lost the 1964 General Election he resigned and was replaced by Heath. Edward Heath’s personal style earned him few friends; he was described by colleagues as blunt, impersonal and humourless. Heath was passionate about forging closer links with Europe and eventually secured entry into the European Economic Community (EEC) in 1973.


The Conservative Party defeat in a second general election in 1974 led to a challenge being mounted for Heath’s leadership. Margaret Thatcher, Heath’s former education secretary, challenged Heath and won. She led the party from 1975 to 1990.
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Following the second miners’ strike over the winter of 1973–74, which resulted in Heath declaring a state of emergency and a three-day week, he called a general election in February 1974. He wanted the election to be a referendum on union power and asked the question to voters in an election broadcast ‘Who runs Britain?’ Heath was defeated, reflecting a lack of confidence in his ability to manage the unions, inflation and economic decline. However, the defeat of Heath did not result in widespread success for Labour either. Wilson was elected with a minority government and was forced to rely on the Liberals (see Table 14).
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Labour government, 1974–79


When Harold Wilson returned to office in 1974 the widespread sense of optimism and energy among the public and the Labour Party that had existed in 1964 was no longer present. Wilson was older, in poorer health and had little of the modernising zeal that he had once possessed. The hung parliament meant that he needed to call a second election in 1974. In October, he managed to win a slender majority of three seats (see Table 15), a result that was weaker than his first victory in 1964.
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The third Wilson government, 1974–76


The first priority of Wilson’s third government was to end union unrest by repealing the Industrial Relations Act (see page 51). Instead, it attempted to return to the corporatism of the mid-1960s by developing a policy called the ‘social contract’. In return for the unions agreeing not to pursue excessive wage claims, the government would offer subsidies to the cost of living. Wilson attempted to present his government as conciliatory towards the unions, as opposed to Heath, who Wilson claimed was confrontational. In the short term, Wilson’s government ended the miners’ strike, but the new policy of the social contract did nothing to deal with the underlying cause of the strikes, which was inflation.


Wilson’s party was divided between three factions:





•  A centre right of which Wilson, Callaghan and Denis Healey were members. They held ideas that were still very similar to the moderate left of the Conservative Party. Chancellor Healey went further in 1975 and embraced monetarism (see page 38) as an economic philosophy. He abandoned the post-war commitment to full employment.



•  A ‘soft’ left led by Michael Foot. Foot was a pro-union politician, but did not back Tony Benn’s radical economic ideas (see below).



•  A ‘hard’ left led by Tony Benn, who shifted towards more extreme left-wing thinking throughout the 1970s. He believed that Britain should become a ‘siege economy’ in response in the 1976 IMF crisis (see page 37).





Wilson resigned in 1976, having become less interested in and concerned with the running of government. He was succeeded by James Callaghan.


Callaghan’s government, 1976–79


Following Wilson’s decision to resign, Callaghan became prime minister. He was from the centre right of the Labour Party and along with his chancellor, Denis Healey, began to abandon key aspects of the post-war economic consensus. He was a pragmatist and did not follow policies out of ideological reasons. This caused him to clash with Tony Benn at cabinet meetings.


Callaghan did not think that the British government could continue to spend its way out of difficulties and believed that Britain must ‘pay its way’ in the world. He thought that Britain had used borrowing to live beyond its means for decades and this had resulted in a loss of confidence in Britain and the pound on the international currency markets. Benn proposed leaving the EEC and believed that Britain could effectively cut herself off from the global economy. He proposed a ‘siege economy’ to protect state spending on welfare from the influence of international banks and currency traders. Benn became an increasingly marginal figure within the cabinet, his economic arguments being seen as unworkable and extreme.


Despite these internal divisions, however, Callaghan remained personally very popular with the electorate as opposed to Conservative leader Margaret Thatcher, who, in 1978, had low opinion poll ratings. It was widely believed that Labour would be victorious at the next general election, but a winter of strikes (see page 52) caused Callaghan’s poll rating to slump. In March 1979 one poll found 69 per cent were dissatisfied with the government’s performance, but still only 45 per cent of those polled thought Mrs Thatcher was performing well as leader of the opposition.


Nevertheless, the 1979 General Election saw the Conservatives win with a sizeable majority and Margaret Thatcher became prime minister (see Table 16).
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Work together





1  Look at the following key questions:







    a) Why did the Liberal Party decline after the First World War and the Labour Party grow in power?


    b) What made politicians fearful of revolution in the 1920s?


    c) Why did the Labour Party win a landslide victory in 1945?


    d) Why was there a post-war consensus on the economy and the trade unions until the 1970s?


    e) Why was Margaret Thatcher elected in 1979?





In pairs look back at your notes for this chapter and decide on the facts and arguments you need to answer the questions. Then rank these, with stronger evidence scoring higher than weaker evidence. A powerful reason for the fall of Ramsay MacDonald’s 1929–31 Labour government, for example, is the impact of the economic crisis, which might get a number one ranking. The reason for giving an importance ranking for your evidence is that you will have to evaluate the relative importance of evidence in your essays.





2  Consider the question:
How far did the political landscape change between 1918 and 1979?
Using your notes work together to prepare a plan to answer the question. Your plan should include paragraph headings and a summary of the contents of each paragraph.
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Chapter summary





•  In 1918 Britain saw the extension of the franchise. This radically altered the political landscape in Britain. The main beneficiary of this change was the Labour Party.



•  The war had elevated Lloyd George to the office of prime minister but the coalition he led unravelled in peacetime. Lloyd George was eventually deposed by a meeting of the Conservative Party in 1922 which voted to end the coalition.



•  Labour had governments in 1924 and 1929 but both were minority governments, making it difficult for them to legislate effectively.



•  The Liberal Party went into decline in the 1920s, eclipsed by Labour who took on the mantle of social reform.



•  Between 1924 and 1929 Stanley Baldwin’s Conservative Party dominated British politics.



•  Ramsay MacDonald’s second administration was split over the question of welfare cuts in 1931 and the government fell. MacDonald and Snowden formed a National Government dominated by the Conservatives but led by MacDonald.



•  Fascism and communism failed to take hold in Britain.



•  Until 1938, most British people were keen to avoid war with Germany, having traumatic memories of the First World War. The Peace Ballot and the Peace Pledge Union were clear signals to politicians that aggression would not be popular. Nevertheless, Britain did rearm from 1934 onwards.



•  When war broke out with Germany in 1939, Neville Chamberlain presided over a failed military expedition to Norway that saw his government fall in May 1940.



•  Chamberlain’s replacement was Winston Churchill, a unifying figure who led Britain to victory in 1945.



•  From 1945 to the mid-1970s a consensus existed in British politics which favoured nationalisation, full employment, an acceptance of a certain degree of inflation and a conciliatory approach to union disputes.



•  In 1945 the Labour Party introduced the most far-reaching social reforms to health, education, housing and the workplace that Britain had ever seen.



•  By 1951 an inability to end rationing led to the end of Labour rule and the start of 13 years of Conservative dominance.



•  Throughout the 1960s inflation and strike days steadily increased.



•  By the 1970s both Conservative and Labour governments were facing huge challenges from the unions.



•  Edward Heath attempted to shift to the right and break the consensus in 1970 but was ultimately unable to do so.



•  Margaret Thatcher finally moved the Conservative Party to the right in the mid-1970s and won the general election in 1979.
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Essay technique: Understanding the question


Section A and B questions require you to deploy a variety of skills. The most important are focus on the question, selection and deployment of relevant detail, analysis and, at the highest level, prioritisation. The introduction to this book (page v) gives more detail about Section A and B questions.


Section A and B questions for AS level are different from that of A level, and some guidance about this is given on pages v–viii. However, you will need to develop very similar skills for the AS exam, therefore the activities will help with the AS exams as well. There are also some AS-style questions to practise at the end of chapters.


In order to answer the question successfully you must understand how the question works. Below is a sample question.


The question is written precisely in order to make sure that you understand the task. Each part of the question has a specific meaning.


Overall, all Section A and B questions ask you to make a judgement about the extent of something, in a specific period. In order to focus on the question you must address all three elements. The most common mistakes come from misunderstanding, or ignoring one of these three elements.




[image: ]






[image: ]


Activity: What should a good answer look like?


Having read the advice on essay questions on this page and in the introduction (page v), complete the following activity:





1  Make a bullet point list of the skills that you need to do well in this type of essay.



2  Number the skills in order of their difficulty, so the easiest skill to demonstrate is 1, and the hardest 4.



3  Try to work out what a good essay would look like. Specifically, note down your thoughts about:








•  Roughly, how many paragraphs should the essay have?



•  Which skills should you deploy in which sections of the essay?



•  How should you structure the different types of paragraphs?
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Work together


Having completed these activities, swap them with a partner.





1  Did you agree on which skills were easiest to demonstrate and were hardest? How did you make this judgement?



2  Did you agree on the number of paragraphs in the essay?



3  How did you both make the judgement about the number of paragraphs you should write?



4  If you had different reasons for the judgement, whose reasons were better and why?



5  Did you agree on where the different skills should be used?



6  Were your reasons for locating skills in different parts or throughout the essay as good as your partner’s reasons?



7  Did you agree on how to structure each paragraph?



8  Can your partner justify their thoughts on how to structure a paragraph?





Use this discussion as a basis for further notes on how to approach the question. For advice on the structure of the essay see page 41.
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1b: Responding to economic challenges
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Overview


There are two main views of British economic history across the twentieth century, one of decline and the other of diversification. Between 1918 and 1979 Britain had undergone a period of relative economic decline compared to other industrialised nations, but by the end of the period her economy had also been transformed. Britain was still the seventh largest global economy in 1979, but many traditional industries such as mining, ship building and steel production were no longer able to compete with foreign rivals.


The two recessions of the interwar period, 1920–21 and 1929–34, saw Britain’s heavy industries and the regions they support hardest hit. In contrast, new industries based on light manufacturing such as electrical consumer goods and the automobile industry flourished in the 1930s, indicating that some aspects of the British economy escaped the depression.


The impact of two world wars on the British economy was profound. Not only did the British lose market share for manufactured goods to America and other rivals, but also accumulated enormous war debts. The other major effect of the world wars was the growth of the role of the state in British economic affairs. The British government took on a greater role, co-ordinating industry and distributing goods in order to gain victory. This trend continued after the Second World War. The post-war Labour government nationalised key industries in order to promote economic growth and protect the rights of workers. However, from the 1950s underinvestment in nationalised industries such as coal and rail led to the view that state ownership was inherently inefficient. Governments between the 1940s and the mid-1970s maintained a commitment to full employment even though some economists believed this led to the ever-higher levels of inflation.


Part of the reason for Britain’s economic woes in the 1970s was related to its shift from being a great power; it was more vulnerable to economic ‘shocks’ the less power it had in determining global events. The oil crisis of 1973 which led to crippling inflation and shortages is a prime example of this. From 1979 onwards, Margaret Thatcher’s governments proposed a revolutionary solution to Britain’s economic problems – the embracing of free market economics and the end of the post-war economic consensus.


This chapter examines the economic challenges of the period through the following sections:





1  Post-war boom, crisis and recovery, 1918–39



2  Creating a managed economy, 1939–51



3  The response to economic challenges, 1951–79
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1 Post-war boom, crisis and recovery, 1918–39


Britain emerged economically damaged at the end of the First World War. Several factors accounted for this:





•  The British government had not expected the war to last as long as it did and to command so much of the nation’s resources.



•  America’s banks on Wall Street had loaned Britain large sums of money to enable it to continue the unexpectedly long and expensive conflict.



•  Britain had been cut off from many of its most valuable export markets by German U-boats, which sank 40 per cent of British merchant shipping. In 1914 Britain’s exports accounted for one-third of its total wealth, but by 1918 it had declined to one-fifth.



•  Britain’s industries had been forced to switch to war production instead of supplying export markets.



•  By 1918 the country had lost over three-quarters of a million men, many of whom were essential to its economic output.



•  The total financial cost of the war was £3.25 billion.





The British continued to import the same pre-war level of goods from abroad, but the decline in exports meant that the country experienced a negative balance of payments throughout the 1920s. The debts that Britain had incurred (amounting to 136 per cent of the country’s entire annual economic output in 1919) and the damage to its trade left it greatly weakened. By 1920 the total British debt was £8 billion. In that year, the government’s annual budget came to £800 million, but £300 million went directly on debt repayment. In 1908 the standard rate of income tax had been one shilling in a pound (5 per cent), but had risen to five shillings (25 per cent) by 1924. Much of this increase was necessary to repay the nation’s debts.


After a brief post-war boom from 1919–20, caused by consumer demand for scarce goods that had been rationed during the conflict, the interwar period was characterised by two recessions, 1920–21 and 1929–34, which hit Britain’s heavy industries and the regions they supported hardest. Even during boom times Britain’s overall level of unemployment remained high, on average it remained at approximately 10 per cent of the working population between 1921 and 1938; this figure was double the average unemployment rate of the period 1870–1913.


Both recessions were followed by periods of recovery (1921–29 and 1934–39). In the mid-1920s consumer demand gradually increased and unemployment declined across much of Britain, however in declining industrial areas such as south Wales and Tyneside, it stayed persistently high. Between 1934 and 1939 rearmament and new light industries in the south east and the Midlands developed as a result of growing consumer demand, but heavy industry continued to decline. In some parts of the coal-producing south Wales valleys it stood at over 80 per cent of the adult population.


This section considers the post-war boom, economic crises and recovery, looking particularly at how different governments responded to try to alleviate suffering and bring the country out of recession.
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Note it down


As you read through this section, make bullet points (see page ix) on the following aspects of post-war boom, crisis and recovery. This will help you to complete the table in the Work together activity towards the end of this chapter (page 38).





•  Why were there problems with the speculative post-war boom?



•  Why was there a post-war recession?



•  How successful were the attempts to solve the economic problems of 1921 to 1924?



•  How significant was the reversion to the Gold Standard in 1925?



•  What was the impact of the Great Depression and how successfully did the government deal with it?



•  How successful was the recovery from 1934?
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Post-war boom


The end of the war in 1918 was followed by a short-lived economic boom in Britain that ended in a recession in 1920.


Because of wartime restrictions and rationing, both individuals and businesses had been unable to spend and had accumulated considerable savings in cash and bonds. Throughout 1919 consumers and businesses spent their savings. Individuals bought luxury items that had been rationed during the war such as coffee, soap, clothes and cigarettes.


There was a huge speculative boom as businesses issued new shares for traders, investors and other businesses to buy and more money poured into the London stock market than at any other time previously in British history. The total amount of new shares issued dramatically increased from £65 million in 1918 to £384 million in 1920. Investors were keen to buy British shipyards, cotton mills and coal mines, but these were all poor investment choices. The monopoly that Britain had over these industries had vanished during the war and Britain now had new competitors in the USA, Japan and South America. In addition to this, these industries had become outdated and had received little investment throughout the war years, making them uncompetitive. In the case of shipping, there was an assumption by investors that global trade would quickly resume to pre-1914 levels and merchant ships would be in demand. Not only did this resumption of trade not happen as quickly as desired, but by 1919 there was a global surplus of ships.


British wartime industries still in the process of returning to civilian usage could not keep up with the level of demand. Goods in short supply became excessively expensive and, as a result, demand declined and the boom came to an end.


Recession, 1920–21


The recession that followed was one of the most severe slumps experienced by Britain prior to 1929. Unemployment levels rapidly increased to 12 per cent of the working adult population.


By 1921, 2 million workers were unemployed and areas of the country like south Wales and Tyneside were deeply depressed as old industries like coal and ship building collapsed. The crisis in the coal industry led to a wave of strike action (see pages 43–4). The cost of living had increased by 25 per cent between 1918 and 1920 and wages stagnated, meaning that unions were far more likely to strike to secure higher living standards for their members.


This recession was caused by a range of factors.


Deflation


The government cut spending by 75 per cent between 1918 and 1920. In addition, in order to return the value of the pound to its pre-war levels, the Bank of England raised the interest rate to 7 per cent. This meant that it suddenly became very expensive to borrow money. These two factors drained available money for spending from the economy. Both the Bank and the government took these measures to try to repay Britain’s wartime debts, but by the end of the decade debt had risen from 120 per cent of GDP to 160 per cent.


Loss of export trade


The global economy had been transformed by the war. It was no longer dominated by Britain. There were several new foreign manufacturing and financial competitors who had taken advantage of the disruption to British trade during the war. One example of market loss was in textiles. Japan began to supply India and South East Asia with cotton and silk during the First World War, causing the textile industry in the northwest of England to decline.


Underinvestment


British industry suffered from long-term underinvestment and by the 1920s this had begun to cause serious problems. In the steel industry, output throughout the interwar period was lower than that of Britain’s rivals. By 1920 a growing number of British manufacturers were importing American steel because of its superior quality and price. By 1937 British steel foundries were producing 83,000 tonnes per year, but American foundries were producing 210,000 tonnes and Germany was producing 125,000 tonnes.


Industrial relations


In order to prevent a general strike in 1919 Lloyd George had bought off British workers in the main industries (coal, rail, docks) with generous pay and working hours. These workers, many of them former soldiers, were unwilling to lose these conditions when times became tough. The creation of an eight-hour working day (48-hour week) resulted in a 13 per cent decrease in working hours, but no increase in productivity during the hours worked. Wage rates also stayed high, meaning that products remained overpriced and uncompetitive.


Attempts to solve economic problems, 1921–24


Lloyd George believed that there was little choice but to wait for the economy to improve on its own. He was anxious to appease middle-class voters who were experiencing financial hardship after 1920, many of whom wanted to see tax cuts and less government spending. He advocated a policy of spending cuts known as retrenchment.


The Geddes Axe


In 1921 Lloyd George appointed Sir Eric Geddes to implement greater cuts in public expenditure. High taxes were blamed on high spending and Lloyd George hoped tax cuts would stimulate the economy. Geddes recommended £87 million of cuts in the 1922–23 budget. Most of these came from the government’s military budget, but the health, welfare and housing budgets were reduced from £205.8 million in 1920–21 to £182.1 million in 1922–23.


Tariffs and free trade


One of the most important economic questions of the interwar years was that of tariffs. For most of the previous century Britain had adopted free trade. Table 1 shows the advantages and disadvantages of free trade and protectionism.


Table 1: The advantages and disadvantages of free trade and protectionism






	Policy

	Advantage

	Disadvantage






	Free trade

	Free trade means that domestic industries have to compete with foreign competitors.




•  There are no import taxes on foreign goods so British manufacturers have to make sure that their products are sold at the lowest possible prices in order to attract customers.



•  British businesses can trade in other countries without the threat of protectionist tariffs being imposed.







	Free trade means that more competitive foreign businesses can out-compete British ones and force them into bankruptcy. This can lead to unemployment and poverty, particularly in areas heavily dependent on one industry.






	Protectionism (tariffs)

	Protectionism is the policy of adding tariffs to certain goods that are imported into a country. It helps to protect domestic industries that are struggling from competition by making the goods more expensive. This protects the profits of domestic manufacturers.

	The downside to protectionism is that it prevents consumers from having access to cheaper goods and it can result in other countries applying tariffs to British exports in retaliation.
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Stanley Baldwin, 1867–1947
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Stanley Baldwin, unlike many Conservatives of his generation, was the son of an industrialist, not an aristocrat. His family had become wealthy in the iron and steel business during the Industrial Revolution. Baldwin was an experienced businessman before he entered politics.


Shortly after the Conservative Party came to power in 1922, the new prime minister, Andrew Bonar Law, was diagnosed with terminal cancer and Baldwin was chosen by King George V to replace him. In December 1923 he was forced to call a general election over the question of protectionism.


Many Conservatives demanded the imposition of tariffs, but Baldwin did not believe he could introduce the policy without first having an election as he had been appointed to office, not elected. The Conservatives were divided on the issue of protection and lost the election to the Labour Party as a result.


Baldwin returned to government in the 1924 General Election and was prime minister until 1929.


Baldwin was often criticised as aimless or directionless by his cabinet colleagues and much of the day-to-day administration of policy was carried out by Baldwin’s chancellor of the exchequer, Winston Churchill, and his minister of health, Neville Chamberlain. Chamberlain already knew a great deal about public health and welfare, but Churchill had no knowledge or experience of finance and made a catastrophic error in returning Britain to the  Gold Standard in 1925 (see page 29).


Baldwin joined the National Government in 1931 and became prime minister again when Ramsay MacDonald fell ill in 1935. Baldwin retired in 1937, his age and ill health forcing him to leave active politics and hand over the office of prime minister to Neville Chamberlain.
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Because of the depth of the post-war recession, many members of the government began to consider introducing tariffs in order to protect British industry and prevent further increases in unemployment. Lloyd George had always believed in free trade and had opposed tariffs. When he left office in 1922 some in the Conservative Party sought an election victory that would give them a mandate to impose tariffs on imports and protect industry (see box above). This divided the party and led to the establishment of the first Labour government.


Ramsay MacDonald and the economy


MacDonald had campaigned on the issue of unemployment, criticising Baldwin’s failed attempts to bring the numbers of jobless down. However, when MacDonald became prime minister he was unable to make any real improvement to Britain’s economic fortunes. He blamed this on the complexities of government, stating that:




what seems to be a simple thing … becomes a complex, and exceedingly difficult, and laborious and almost heartbreaking thing.





MacDonald lacked a parliamentary majority with which to carry out major economic measures to deal with unemployment. He was unable to increase spending and taxation to help revive the economy or create jobs, but he was also reluctant to do so. He wanted to present Labour as a moderate party, one that was ‘fit to rule’, not a party of radical socialist ideas. He wanted the other two political parties, the largely Conservative-supporting press and Britain’s upper and middle classes to feel that they had nothing to fear from a Labour administration.


Between 1921 and 1924 unemployment had declined from 12 per cent to 6.5 per cent, but started to climb again throughout MacDonald’s year in office and rose to 8 per cent in 1925. One positive side effect was the dramatic fall in inflation from 15 per cent in 1920 to just under 1 per cent in 1924. This was not the result of economic strategy however. Inflation fell because spending had collapsed due to unemployment.


Baldwin’s second administration, 1924–29


Stanley Baldwin’s chancellor of the exchequer was Winston Churchill. He had never held the post of chancellor before, and presided over one of the most catastrophic economic blunders of the decade. By reintroducing Britain to the Gold Standard it has been argued that the economic slump was prolonged.
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The Gold Standard


Before the war the value of the pound had been decided by a fixed exchange rate called the Gold Standard. Being on the Gold Standard meant that the prices of British exports stayed high, which made sense when the economy was booming, but made life very difficult for manufacturers when the economy was struggling.


The war had led to the suspension of the Gold Standard, but Churchill reintroduced it in his 1925 budget for two reasons. First, a pound that was decreasing in value was bad for British prestige and second, Churchill believed that a competitive economy could not be built by the government simply making things easier for manufacturers.


The exchange rate in 1925 was £1 to US $4.85 (the economist John Maynard Keynes believed that the value of the pound was fixed 10 per cent too high). In order to make the pound nearly five times as attractive to foreign investors, interest rates had to be kept high. This meant that foreign investors were attracted to Britain and put their money in British banks, but it also meant that the cost of borrowing money was equally high. As a result businesses found it more difficult to borrow money in order to expand and take on new workers, which added to Britain’s problems with unemployment.


Many businesses wanted to come off the Gold Standard to make their exports cheaper so they could sell their products across the world, and compete with the cheaper imports flooding into the country. The higher costs of British exports were offset by employers through reducing wages or moving workers on to short-hour contracts. This meant that for many people paid employment often resulted in almost as much financial hardship as unemployment.


In September 1931 the Bank of England was forced to concede that it could no longer keep the pound in the Gold Standard. Interest rates were already at 8 per cent and would have to dramatically increase in order to prop up the value of the pound. That month a decision was taken to withdraw the pound from the Gold Standard and devalue; a measure that enabled the British economy to recover more quickly from the depression than many other countries.


[image: ]





Depression, 1929–34


In October 1929 a stock market crash on Wall Street in the USA sent shock waves through the US economy, resulting in economic depression. The USA had replaced Britain as the world’s largest importer of overseas goods and the financial crisis had consequences for nearly every other country in the world. Global trade contracted by 66 per cent over the next five years. Britain’s exports declined by 50 per cent. They were worth one-third of the country’s Gross National Product (GNP) and the collapse in trade was catastrophic for several key industries:





•  coal



•  dock work



•  cotton



•  iron and steel



•  ship building.





In addition to these industries, the shops and markets where miners, dock and mill workers spent their wages were also seriously affected. Unemployment, which had stood at 1 million in 1929, leapt to 2.5 million in 1930. The increase in unemployment put additional pressures on the government – tax revenue declined, but the number of people applying for financial assistance rapidly increased. In 1931 the British economy shrank by nearly 5 per cent, but despite these problems the government’s main priority was keeping the pound in the Gold Standard system and supporting its value through spending cuts and high interest rates.


The Labour government’s response


Britain’s huge debts, along with her rising level of unemployment, led to a debate within the new Labour government. The chancellor of the exchequer, Philip Snowden, believed that unemployment relief should come from taxing the wealthy and from corporate profits. However, as these profits slumped, and private, wealthy individuals with money were anxious to protect or conceal it, the cost of providing for the unemployed became unsustainable.


The economist John Maynard Keynes suggested government spending on public works, such as new roads, to create jobs, but Snowden refused. He knew that the bankers in New York and London had little patience for further spending, as the value of British government bonds they had purchased during the war would decrease. The only part of the economy that the government invested in and created jobs in during the depression was the defence industry.


During the summer of 1931 there were rumours that the forthcoming budget would be unbalanced – meaning that the government had plans to spend more than it could afford, leading to an increase in borrowing. This caused the banks in America to engage in panic selling of the pound, exchanging it for other currencies, and the pound slumped in value. In order to reassure financiers that their investments were safe the government proposed spending cuts, the main measure being the introduction of a 10 per cent cut in unemployment assistance. This would keep the value of the pound stable, but caused hardship for many of Britain’s poorest. The threat of this cut split the Labour Party and the government resigned on 24 August 1931 (see page 9).
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MacDonald and the banks


The second Labour government under Ramsay MacDonald struggled to finance its spending commitments and by 1931 came under intense pressure from international banks to limit the amount that was spent on social welfare. These banks had significant power over Britain as they held large reserves of the British pound, due to the amount of debt Britain had accrued by borrowing from the USA to finance the First World War. The reserves were normally in the form of bonds (a government-issued IOU), which had been exchanged for cash during the war when the British were desperate for funds. The bonds were redeemable at a later date but could also fluctuate in value, depending on whether the currency they were issued in (the pound) continued to be valuable or not.


These banks could lose millions at a stroke if the value of the pound went down and so did not want to see economic policies introduced that might cause that to happen. A high-spending government would either have to tax or borrow; both actions would reduce the pound’s value and cause the Gold Standard to be readjusted.
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The National Government’s response


The National Government (see page 10) implemented the public spending cuts which had caused the previous government’s downfall, primarily through cutting public sector workers’ pay by 10 per cent and the means test for unemployment assistance (see page 59). Alongside cuts it tried to give direct assistance, through the Special Areas Act, to those areas most hard hit by the depression.


The Special Areas Act


In 1934 the government introduced the Special Areas Act, a measure that identified Tyneside, south Wales, west Cumberland and Scotland as regions in need of direct government assistance, but only a trickle of investment came to them. A new steel works in Ebbw Vale brought some jobs to the depressed south Wales valleys, but it was too little too late. King Edward VIII visited Dowlais in Wales in 1936, stating rather belatedly when he saw the unemployment and poverty that ‘something must be done’.
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Hunger marches


The desperation of workers and their families in the most deprived parts of the country from 1921 onwards had led the Communist Party of Great Britain to establish the National Unemployed Workers’ Movement. The organisation, which was boycotted by the Labour Party because of its links with communists, organised a series of marches to protest the means test throughout the 1930s, which quickly came to be christened the hunger marches. The protesters were unemployed men from the depressed regions of Britain who walked to London, encountering both support and opposition along the route. The most famous of the marches was from Jarrow in Tyneside in 1936, called by the marchers the Jarrow Crusade.


The northeast of England felt particularly forgotten and ignored by the far wealthier southeast and London, and the marchers sought to bring to the attention of the government the scale of the deprivation and poverty in which the region was mired.
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Recovery, 1934–39



The depression did not last as long in Britain as it did in other countries such as America. On average between 1932 and 1937:





•  real incomes rose by 19 per cent



•  industrial production rose by 46 per cent



•  GNP rose by 23 per cent



•  exports increased by 28 per cent



•  unemployment fell from 17 per cent to 8.5 per cent.





Economic growth averaged 4 per cent a year between 1934 and 1937 as the decision to remove Britain from the Gold Standard enabled the following economic measures:





•  A cut in interest rates. Borrowing for businesses and individuals became cheaper, which enabled more spending and job creation. It also made it less attractive to save money so people investing their wealth bought property instead. This fuelled a housing boom in the southeast and Midlands in the second part of the decade as more people could afford to buy houses and the number of new houses built dramatically increased (see Table 2). The cut in rates was referred to as a ‘Cheap Money’ policy. The total value of mortgages taken out in 1930 was £316 million, but by 1937 it was £636 million, with an extra half a million borrowers buying new homes.





Table 2: House building






	Year  

	New homes built






	1931–32

	133,000






	1934–35

	293,000






	1935–36

	279,000










•  The government was able to allow a degree of inflation by the end of the decade. Instead of trying to prevent inflation completely (therefore protecting the value of the pound and its place in the Gold Standard), the National Government stimulated spending, which had the consequence of letting prices rise slightly. For example, the government spent money on road building, which in turn stimulated the car industry (see pages 161–162).



•  The devaluation of the pound made British exports cheaper and more competitive.



•  Banks became more willing to spend again.



•  The national government also stimulated economic growth by restructuring British war debts, ensuring they cost the country 25 per cent of its tax revenue, as opposed to 40 per cent.





2 Creating a managed economy, 1939–51


Like the government during the First World War, Winston Churchill’s government took control of war production and developed specific ministries for controlling the wartime economy:





•  The Ministry of Aircraft Production



•  The Ministry of Supply



•  The Ministry of War Production



•  The Ministry of Food



•  The Ministry of Labour and National Service.





All ministries were given extensive legal powers to intervene and, if necessary, take over the running of essential war industries. The most fundamental difference between the British wartime and peacetime economies was the role of market forces. In peacetime, production was determined by prices for goods and profits; during wartime, production levels were decided by the government. The managed economy was to a large degree maintained by the post-war Labour government, particularly through the nationalisation of key industries.
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Note it down


This section explores how a very different type of economy emerged in Britain as a result of crisis. In your notes you need to show a clear difference between the pre-war economy and the way the government managed the nation’s resources after 1945. An effective way to do this is to use the 1:2 method (see page x). Use the following headings:





•  Military expenditure



•  Economic aid



•  Post-war austerity



•  Nationalisation.
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Military expenditure


Britain had managed a degree of rearmament before the war, however by 1939 there were still significant shortages in military equipment. In 1940, when Britain appeared to be losing the war, the growth of state intervention resulted in a huge increase in war production and military expenditure (see Table 3). Britain produced 15,000 aircraft in 1940, rising to 47,000 in 1944 and between 6,000 and 8,000 tanks per year.


Table 3: Government military expenditure, 1939–45






	Year  

	Military expenditure (as % of national income)






	1939

	15%






	1940

	44%






	1941

	53%






	1942

	52%






	1943

	55%






	1944

	53%






	1945

	51%
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Aircraft production
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One example of the efficacy of Britain’s centralised control of the economy during the war was the rate of aircraft construction during the Battle of Britain. Lord Beaverbrook was appointed to head the new Ministry of Aircraft Production, applying quotas for fighter aircraft. In the six months before his appointment, of the nearly 3,000 aircraft built only 638 were the badly needed fighters to defend British airspace. In the following four months 1,875 were built, tripling British output. The rate of Luftwaffe losses and Germany’s slower rate of replacement meant that the RAF could win the fighter war of attrition.
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Economic aid


Between 1939 and 1941 the USA offered Britain considerable economic help, despite the fact that the USA was neutral. The 1939 American Neutrality Act initially allowed the British to buy supplies with cash only, but by December 1940 Britain’s cash and gold reserves were spent. Winston Churchill arranged a credit agreement, known as the Lend-Lease Agreement. America would supply Britain with the resources it needed but the bill would be paid after the war.


Equally as important were American ‘Liberty Ships’ – large cargo vessels full of oil, coal, timber, foodstuffs and essential raw materials for the war effort. These provided Britain with an economic lifeline throughout the war as German U-boats in the Atlantic prevented British merchant ships from bringing goods to Britain.


Post-war austerity, 1945–51


By the end of the Second World War Britain had accumulated over £4 billion of debt with the USA. Repaying this and the mounting interest cost £70 million every day.


Once again, British trade had been seriously disrupted and damaged by the war. The British economy had contracted by one-quarter and trade had declined by two-thirds. Not only had British shipping been sunk by German U-boats, but many of the countries in Europe and Asia which had previously bought British exports were devastated by war. American wartime aid to Europe and China helped US manufacturers dominate post-war markets with their products. Brands like Hershey’s chocolate and Studebaker cars now competed with Cadburys and Morris.


The economist John Maynard Keynes visited Washington in August 1945 to negotiate an emergency loan for Britain. He believed it should be a non-repayable gift in recognition of Britain’s wartime efforts, but the US Congress did not see it in such terms. Britain’s bleak situation was underlined by an arctic winter in 1947 that saw rationing reintroduced and parts of the country experiencing food shortages (see page 135).


Britain’s expensive world role


In 1948 George Marshall, US Secretary of State, proposed offering extensive loans to war-ravaged Europe. He believed that unless America acted and helped the continent to recover it might fall to communism. Britain was one of the biggest recipients of this Marshall Aid in 1948 (receiving up to £2.7 billion in loans).


Britain failed to use Marshall Aid to reinvest in industry and used it instead to pay for general expenses at home and overseas. The end of the war brought about a reduction of Britain’s international commitments, but not a complete end to them. Britain continued with the policy of national service until 1965 and was involved in conflicts in Greece, Korea, Malaya and Kenya throughout the 1940s and 1950s. Britain also had a large army based in Germany and the responsibility of keeping civilians in the German zone of occupation fed and supplied.


By 1950, even after the establishment of a National Health Service (see pages 71–2), Britain’s investment in infrastructure stood at 9 per cent of GDP, whereas Germany’s was close to 20 per cent. Japan, too, poured huge efforts into building up its infrastructure; by the 1950s and 1960s both countries exported cars, electrical and consumer goods to Britain and the rest of the world.


Nationalisation


Perhaps the most important economic change to occur under the new Labour government in 1945 was the advent of nationalisation, with the state taking control of coal, power, railways, ship building and banking. It was hoped that nationalisation would give the government the ability to create full employment in the economy: nationalised industries that were financed by the government would not have to shed jobs during economic downturns. The main priority of Labour and later Conservative governments was not to return to an age of mass unemployment as in the interwar years.


During the first Labour ministry a series of nationalisation acts brought large sections of industry under government control.





•  The Coal Industry Nationalisation Act 1946



•  The Bank Of England Act 1946



•  The Transport Act 1947 (nationalising the railways, road haulage and buses)



•  The Electricity Act 1947 (nationalising electricity production and the national grid)



•  The Gas Act 1948 (nationalising the gas industry)



•  The Iron and Steel Act 1949 (nationalising the iron and steel industry).





The shareholders of the industries taken into public ownership were compensated by the government. For example, the private rail companies were bought from their owners for £1 billion. The total bill for nationalisation exceeded £2 billion, which left little money for the important modernisation needed and stored up economic problems for the future.
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Labour’s economic record, 1945–51


Labour’s economic record after 1945 was strong in most regards:





•  Labour’s first priority, full employment, was achieved in a four-year period between 1947 and 1951. The total number of unemployed reduced dramatically from 1930s’ levels to just under 300,000.



•  Britain began to boost its world trade and reduce its balance of payments deficit. The percentage of world trade dominated by Britain grew from 17 per cent in 1939 to 20 per cent in 1950. Exports grew by nearly 80 per cent (though this figure can be explained by the fact that the war had reduced British exports significantly).



•  The economy grew dramatically, by 4 per cent each year after 1948.
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3 The response to economic challenges, 1951–79


While the immediate aftermath of the war saw a greatly weakened and impoverished Britain, within a decade a combination of economic factors saw the beginnings of a boom that would last until the 1970s. This boom needs to be viewed in a wider global context. There was a huge expansion in the world economy during the 1950s and 1960s as a global recovery from the war occurred and the new technologies invented during the war were applied to civilian industries.


Although Britain experienced this consumer boom (see pages 137–138), it also experienced relative economic decline. This meant that as personal expenditure rose and consumer demand fuelled the economy, Britain as a whole was spending more than it earned, which resulted in a series of recurring economic problems which each government attempted to address:





•  balance of payments problems



•  devaluation



•  inflation



•  union disputes (see pages 49–52)



•  unemployment in the 1970s.
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Note it down


In your notes create a spider diagram (see page x) to help you answer the following questions:





•  What were Britain’s economic problems between 1951 and 1979?



•  What did politicians do to try to solve them?



•  Why did many of these solutions fail to work?
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The Conservatives and the post-war economy, 1951–64



In 1951 the Conservatives were returned to power by middle-class voters who switched from Labour. They were opposed to further nationalisation and wanted an end to wartime rationing and controls over the economy. By 1954 all rationing was over and an economic boom was under way. The political consensus between the Conservative and Labour parties over the economy led to the Conservatives prioritising:





•  A commitment to full employment. The government was quick to use Keynesian-style public works schemes when unemployment began to rise. Throughout the period unemployment averaged 500,000, with lows of 300,000. There was no return to the mass unemployment of the 1930s.



•  A mixed economy. The Conservatives had pledged not to increase the level of nationalisation, but they had no plans to reduce it either.





During the thirteen years of Conservative rule Britain retreated from her world role. Decolonisation and the end of its empire in Asia and Africa reduced vast expenditure and an influx of hundreds of thousands of new workers from the Caribbean and South Asia brought new energies and skills to the British economy (see page 122).
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The end of empire


In 1918 Britain had the largest empire in the world, but by the 1950s it was in decline. In 1947 India, Britain’s largest and most important imperial possession, was granted independence. In the next three decades British colonies in Africa and Asia also gained their independence:





•  Ghana (1957)



•  Jamaica (1962)



•  Uganda (1962)



•  Kenya (1963)



•  Malaysia (1957).





One of the main motivations for abandoning colonies was the realisation by the British treasury that they cost far more to govern and administer than they were worth in trade, especially since foreign rivals now dominated trade to Britain’s colonies.


[image: ]





‘Stop-go’ economics


The key feature of the period 1954–64 was the growth of consumer affluence and the ability of people in Britain to borrow and spend more on consumer goods than they had ever before. The government encouraged this new spending, but also struggled to deal with its consequences. It relaxed the laws surrounding consumer credit and borrowing, but had to employ a strategy that critics described as stop-go economics. The Conservatives allowed the consumer economy to grow, but excessive spending tended to result in a growth in inflation. It also resulted in an increase in imports which led to balance of payments problems. In order to counter this, Macmillan, while serving as Eden’s chancellor of the exchequer, deliberately slowed the economy down by raising interest rates and taxes. This led to exports becoming less Competitive and resentment from taxpayers. It demonstrated that controlling unemployment and inflation at the same time was impossible. Commentators referred to this policy as ‘stop-go’, meaning a failure of the government to develop consistent policies to ensure growth. The government tended to increase taxes and raise interest rates to make it difficult to borrow money for investment in order to slow things down when the economy grew too quickly. Then they would reduce them again after the slowdown to make money easier to borrow and facilitate an acceleration.


Managing the economy, 1957–64


Despite the rising living standards in Britain, the comparative difference between British economic performance and the output of her competitors was alarming for the government. West Germany and Japan had recovered from the devastation of war and their economies had dramatically grown. Japan experienced growth of 12 per cent in 1960 whereas Britain managed just over 4 per cent growth in the same year.


Macmillan believed in ‘one-nation’ Conservatism, where a united Britain, irrespective of social class, could work together to solve common problems. He decided to experiment with corporatism to try to arrest the economic decline. Corporatists believed that by uniting labour, management and government, economic goals could be planned and achieved. In 1962 two organisations were set up to achieve this.
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Harold Macmillan, 1894–1986


Harold Macmillan was a moderate, aristocratic Conservative. He was part of the Macmillan publishing dynasty and, as an MP in the 1930s, spoke out against government inaction on unemployment. His parliamentary constituency was in Stockton-on-Tees in the northeast of England, one of the most depressed parts of the country. When Macmillan became prime minister in 1957 he believed in the goal of full employment and a mixed economy with a degree of nationalisation. His memories of high unemployment in the 1930s made him determined not to risk this in Britain again. Throughout his term of office he benefited from favourable global economic conditions, but he was aware that inflation could be the consequence of the economic boom. Macmillan’s period in office is seen popularly as an era of affluence.


In 1957 he said that ‘most of our people have never had it so good’. He also included an element of caution into his speech adding that: ‘What we need is restraint and commonsense – restraint in the demands we make and commonsense on how we spend our income.’
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NEDDY
(The National Development Council and Office)


NEDDY was an institution where management and unions could discuss the development of the economy and co-operate with one another. It was assumed that they would want to work together because both would benefit from long-term economic growth. NEDDY was unable to enforce any legal control over either industry or unions, and the government hoped that both sides would come to voluntary agreements with each other.


NICKY (the National Incomes Commission)


Throughout the 1950s the number of working days lost to striking gradually increased (see page 49) and the level of pay rises demanded by workers grew. The Conservatives were chiefly interested in keeping unemployment down, but some ministers in the treasury feared that inflation could eventually get out of control unless pay rises were controlled. NICKY was purely an advisory council assembled from economists and industry experts. Its role was to give guidance to employers and unions on what the government considered ‘reasonable’ pay increases. It could not enforce any of its decisions. Unions for the most part ignored NICKY’s calls for wage restraint. The union bosses were mindful that their members wanted improved living standards and greater spending power. The new consumerism of the 1960s was attractive to union members and they wanted to participate, so ignored appeals for wage restraint.


Economic problems by 1964


By 1964 the government was encountering serious economic problems:





•  Unemployment in 1963 grew to its highest level (878,000) since the end of the war.



•  Increased consumer spending increased demand for foreign goods and Britain experienced a balance of payments problem, causing a threat to the value of the pound.



•  In August 1961, the government refused to devalue the pound, instead borrowing £714 million from the IMF in order to support it.





The Wilson government and the economy, 1964–70


Harold Wilson came to power in 1964 with a stated aim of modernising the British economy. He talked about making the economy more egalitarian, which would result in growth by allowing the most talented people in the country, irrespective of class, to have opportunities. He also believed that the economy could be transformed through technology, although he rarely went into specifics when he discussed modernisation.


Prices and Incomes Act


Wilson’s government experienced similar economic problems to previous governments, with recurring balance of payments deficits, gradually increasing inflation and the failure of voluntary wage restraint. In response to the latter it created an incomes policy that gave the government legal powers to limit pay claims.


The National Board on Prices and Incomes (NBPI) was created to regulate pay settlements. It was accompanied by the Prices and Incomes Act 1966 which forced a statutory wage freeze for six months to curb inflation. The following year the Prices and Incomes Act 1967 allowed wage increases in companies that could prove they were increasing productivity and output.



Technology



Wilson’s belief in technological improvement in British industry saw the creation of the Ministry of Technology in 1964, headed by Tony Benn from 1966 ‘to guide and stimulate a major national effort to bring advanced technology and new processes into industry’. The ministry grew to be one of the largest bodies in government. One of its main achievements was in the aviation industry with the creation of the supersonic passenger plane Concorde.


The IRC


Another aspect of government intervention to drive efficiency was the Industrial Reorganisation Corporation (IRC). The corporation promoted efficient practices in industry and offered loans to companies who wanted to implement new efficiency measures. It also promoted mergers between businesses where it was thought that there could be greater economic efficiency through combining them. Many of the mergers proposed by the IRC ended in failure, the most high profile being British Leyland, the car giant formed in 1968 by the merger of Leyland Motors and the British Motor Corporation. A £25 million loan was offered to fund the cost of the merger, but the car company that emerged was not able to compete with European and later Japanese imports. Throughout the 1970s British Leyland cars were synonymous with poor quality and the company operated at a loss, continually requiring subsidies.


Devaluation


In 1967 Wilson was forced to admit that devaluation would help ease deep-seated problems in the economy and allowed the pound to be devalued. It was reduced in value from $2.80 to $2.40, a decrease of 14 per cent. He claimed to the British public that the ‘pound in your pocket’ would be unaffected. The decision to devalue led Wilson’s chancellor, Callaghan, to resign in protest.


The Heath government and the economy, 1970–74


In 1970 when Edward Heath became prime minister he intended to reject corporatism and embrace free market ideas.


One of the first organisations to be axed by Heath was the IRC. In 1970 Heath believed, as Wilson had, that modern techniques and practices in industry could revive the country’s fortunes. However, unlike Wilson, he argued that it was the role of private businesses to provide that modernisation and that it could not be effectively imposed by the state. His pre-election Selsdon Park meeting (see page 20), where he devised a manifesto that was a break with consensus politics, led to major economic changes following the election.


Cuts to state spending were introduced in the following areas:





•  cuts to subsidies to council houses



•  cuts to free school milk for children



•  raising charges on prescriptions.





Heath believed that cuts in spending and reducing the tax burden on the public would stimulate economic growth. In total, his government’s first budget made cuts of over £330 million. Heath assumed that a natural spirit of entrepreneurship would result from the cuts. He abolished the NBPI set up by Wilson, ending the government’s ability to control or influence prices and incomes. However, Heath had not counted on several problems:





•  mounting inflation across the world as the global economic boom slowed down



•  Britain’s own problem of inflation, which was 15 per cent after eighteen months of Heath’s leadership



•  unemployment, which had risen from 2 per cent at the end of the 1950s to 6 per cent in the early 1970s.





In 1972, Conservative Chancellor of the Exchequer Anthony Barber attempted a ‘dash for growth’ in his budget with massive tax cuts and forecasts of low borrowing. The result was a huge spike in inflation, which was followed soon after by price rises caused by the 1973 oil crisis. Barber tried to cool the economy down with public sector pay cuts, which led to union unrest and confrontation with the National Union of Miners (see page 51).


New economic thinking


The most significant economic problem that dominated the Labour government from 1974 to 1979 was inflation. By the mid-1970s prices were rising faster than wages, dramatically reaching over 30 per cent by 1975. Appeals by the government for restraint in wage demands were ignored by the unions who saw the standards of living of their members eroded by the constant increases in prices.


By 1975 Labour Chancellor Denis Healey had begun to challenge Labour’s commitment to full employment. He believed that pumping money into the economy to stimulate employment was pointless, because it simply led to ever greater levels of inflation.



The IMF loan



By early 1976 the confidence that international banks and currency traders had in the British economy rapidly declined due to the rate of inflation and the likelihood of further strikes. This meant that the value of the pound slumped and the British government once again was forced to accept a loan from the IMF. The loan was agreed by September that year, by which time the value of the pound had declined by nearly 20 per cent from $2 to the pound to $1.63. The IMF loaned Britain just under £4 billion, but the money came with conditions. Britain had to prove it was capable of repaying its debt and was forced to agree to £3 billion of spending cuts. When Healey announced the deal at the Labour Party conference he was denounced as a ‘traitor’ by the left of the party, which accused him of selling out Britain to the interests of international finance. Healey argued that the left of the party was hopelessly unrealistic and that Britain was living far beyond its means.


The left of the party, led by Tony Benn, proposed an Alternative Economic Strategy. It argued that the welfare state needed to be protected from cuts imposed by the IMF by:





•  using trade barriers to keep out foreign imports



•  making Britain economically self-sufficient by government investment in industry and increased nationalisation



•  withdrawal from the EEC (see page 22).





Benn called his proposals a ‘siege economy’. Callaghan dismissed Benn’s arguments as unworkable and unrealistic. In supporting Healey, Callaghan indicated that the Labour Party had moved away from the post-war Keynesian consensus and had embraced monetarist thinking.
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Monetarism


The Centre for Policy Studies (CPS), co-founded by Margaret Thatcher’s economic guru, Keith Joseph (see page 65), argued that control of the money supply in an economy was one of the most important roles of government.


This philosophy, known as monetarism, stated that a tight reign on the money supply would eventually prevent inflation, even though it might cause unemployment. This was a price worth paying, however, because as the experience of the 1970s had shown, inflation eventually led to unemployment anyway.


In addition to proposing limits on the money supply, principally by cutting state spending, the CPS and Joseph also argued for a dramatic change to the economic consensus that had dominated Britain since the end of the war. Free market or neo-liberal economics were proposed, which meant:





•  a dramatic reduction of the state’s role in the economy



•  privatisation of all state-owned industries and utilities



•  the deregulation of industries that struggled with excessive bureaucracy (particularly the financial sector)



•  the promotion of free trade.





By scaling back the role of the state, Joseph, and later Thatcher, believed that the energies of the free market would be unleashed. It was not the first time during the decade that these ideas had been mooted either. Most of the proposals put forward at the end of the decade by the CPS were contained in the ‘Selsdon Manifesto’ (see page 20), although most proposals had to be abandoned due to union opposition and Heath’s weakness against the TUC (see page 52).
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Work together





1  There are two main views of economic history during this period:








•  Britain was in unstoppable decline after the First World War.



•  Britain was not so much declining as transforming into a post-industrial economy.





Use the following table to assign the evidence to these two different views using the notes you made throughout the chapter. With a partner decide which view you most agree with and why.






	Years  

	Unstoppable decline

	Economic transformation






	1918–39

	 

	 






	1939–51

	 

	 






	1951–79

	 

	 










2  Look back over this chapter and decide which five events you think are the most important in the period 1918–79. Your partner will score you out of 15 for each event using the following criteria:








•  Details of the event (what happened) 1–5



•  Significance of event (how it shaped later events) 1–5



•  What evidence is there of its importance? 1–5



•  Overall score out of 15.
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Chapter summary





•  After a brief post-war boom, a devastating economic slump led to a huge increase in unemployment and poverty from 1920 to 1921.



•  The Conservatives hoped protectionism and tariffs would revive the economy but this was electorally unpopular.



•  The hardest hit areas in Britain were the regions associated with heavy industry, the south Wales coal fields, the shipyards of Tyne and Clydeside and the mining areas of northern England.



•  Following the Wall Street crash in the USA, Labour’s spending plans in 1929–31 came under immense pressure because of Britain’s struggling economy.



•  During the 1930s the depressed regions suffered disproportionately to the rest of the country. The National Unemployed Workers’ Movement organised several hunger marches, protesting against poverty and the means test.



•  In more affluent parts of the country the 1930s were a time of growing living standards, jobs and consumer goods.



•  The government took control of large sections of the British economy during the Second World War.



•  The Labour Party wished to continue government intervention in the economy after the war and pursued a policy of nationalisation.



•  From 1950 to about 1975 the world experienced a global economic boom that Britain benefited from.



•  During the same period both Labour and Conservative parties had a broad agreement over the management of the economy, with a commitment to full employment, nationalisation and tolerance for a degree of price inflation.



•  A retreat from empire and mass immigration not only reduced government expenditure overseas but also resulted in new skilled workers and low-cost labour in Britain.



•  The 1950s saw a relaxation in consumer credit and an increase in new products available to buy, leading to a dramatic increase in consumer spending.



•  In the late 1950s the first sign that the consensus on the economy was being challenged came from within the Conservative Party when senior treasury ministers resigned, arguing that Macmillan should adopt monetarist policies.



•  Macmillan hoped that people would be sensible in their spending and unions would show restraint in their pay claims, but this was naive.



•  Throughout the 1960s inflation began to gradually increase and by the 1970s so did unemployment.



•  Harold Wilson’s attempts to modernise the British economy were undermined by his high spending plans, his refusal to devalue and relative economic decline.



•  By 1970 Edward Heath planned to introduce monetarist and free market policies, but trouble with inflation and the unions prevented this.



•  In 1976 Britain applied for a loan from the IMF and was forced to adopt neo-liberal policies, which included cuts to state spending and free market reforms.
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Essay technique: Focus and structure


All of your examined essays will be judged on how far they focus on the question, and the quality of their structure. The better your focus and the clearer your structure, the better your chance of exam success.


Focus of the question


First, you must identify the focus of the question. Imagine you are answering the following question:
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How far does the economic effect of the Second World War explain Britain’s relative economic decline 1945–79?
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The question has two parts:





•  The economic effect of the Second World War



•  Britain’s relative economic decline, 1945–79.





Essentially, the question asks you to explain Britain’s economic decline in the post-war era, and questions the extent to which the war is to blame. This means you need to evaluate the relative importance of a range of causes.


Structuring your essay


Your essay should be made up of three or four paragraphs, each addressing a different factor which helps explain Britain’s post-war economic decline. One of these paragraphs has to address the factor stated in the question: the effect of the Second World War. Therefore your essay plan should look something like this:


Paragraph 1: [Stated factor] The effect of the Second World War


Paragraph 2: Lack of investment


Paragraph 3: Corporatism


Paragraph 4: The refusal to devalue


It’s a good idea to deal with the stated factor first, otherwise you may run out of time and then miss the opportunity to deal with this important part of the question. Once you’ve dealt with the stated factor, deal with the other factors in order of their importance. Write about the most important factor first.


In addition to your three or four main points, you should begin your essay with a clear introduction and end with a conclusion that contains a focussed summary of your essay (see pages 92–3).
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Different kinds of question


The example above is a causation question, which asks you to consider how far a stated factor caused a specific process. Significantly, not all questions deal with cause, and not all questions have an obvious stated factor. Nonetheless, you will need to consider a range of themes in any essay your write. Therefore, you should always begin by thinking of the three or four main topics you want to discuss, and these should be the basis of your essay.
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Writing a focussed introduction



Having made your plan it is important you write a focussed essay. One way of doing this is to use the wording of the question to help write your answer. For example, the first sentence of your essay could look like this:
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This sentence begins with a clear focus on the question by addressing ‘how far’ the economic effect of the Second World War explained Britain’s relative economic decline. In this sense, the first sentence provides a focussed answer to the whole question.


Focus throughout the essay


A second way of maintaining focus is to begin each paragraph with a clear point, which both refers to the primary focus of the question and links it to a factor.


For example, you could begin your third paragraph with the following point:
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This sentence clearly introduces a new factor: corporatism, while maintaining focus on the question.


Summary





•  Work out the primary and secondary focus of the question.



•  Plan your essay with a series of factors that focus on the question.



•  Use the words in the question to formulate your answer.



•  Return to the primary focus of the question at the beginning of every paragraph.
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Question practice


Having read the advice on how to write a structured and focussed essay, use your notes to plan and write the first sentence of the following questions:





1  How far was Labour policy the main reason for economic decline in the period 1945–64? [AS]




2  How accurate is it to say that the years 1945 to 1970 were a period of political consensus between the Labour and Conservative parties? [AS]




3  How effectively did Conservative and Labour governments address Britain’s economic problems between 1945 and 1970?
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1c: Change and challenge in the workplace
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Overview


Throughout much of the twentieth century, millions of British workers were represented by trade unions. They used strike action and other forms of protest to force the government and employers to guarantee fair rates of pay, safe working conditions and protection from arbitrary sacking.


By the end of the 1970s Britain’s industrial conflicts had come to define it in the eyes of the international community. Union unrest and strike action in the winter of discontent of 1978–79 appeared to have caused Britain to come close to a state of anarchy.


This chapter explores labour relations from 1918 to 1979 and examines why the trade union movement was able to exercise such power over politics by the end of the period. It also examines how working opportunities changed in Britain as the country’s economy underwent a transition from heavy industry to a service sector economy. It does this through the following sections:





1  Changing industrial relations, 1918–39



2  Changing working opportunities and conditions, 1939–79



3  Industrial relations, 1939–79
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1 Changing industrial relations, 1918–39


In 1871 the Trade Union Act gave legal recognition to trade unions. A series of large ‘new’ unions developed that catered not only for the artisan or skilled working classes, but also for the far greater number of unskilled workers who were often more radical and less likely to see their interests best represented by the Conservative or Liberal parties. In 1900 the Trades Union Congress (TUC), a body which represented the unions collectively, established a Labour Representation Committee (LRC) to pursue parliamentary representation for the newly enfranchised working classes (see page 5). This became the Labour Party. Throughout this chapter the changing and often antagonistic relationship between the TUC and the Labour Party will be crucial to understand.


The period between the two world wars began with a high level of union unrest. A brief post-war boom (see page 26) in 1919–20 led to an increase in labour disputes – as factories took on large numbers of men, the leadership of the TUC realised it was in a position to extract concessions from employers. This was followed by a slump and continued hardship throughout the 1920s for many working-class people, which weakened the unions as their membership decreased. In 1926 a general strike occurred, but it was an aberration in the period 1921–39, which actually saw comparatively low incidences of industrial action.
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Note it down


The unrest that Britain faced at the end of the First World War from the trade unions had direct political and economic causes. With your partner, create a timeline of events from 1918 to 1939 and place on it not only the events relating to union activity but those economic and political changes in Chapters 1a and 1b that you think are relevant.


Once you have done this look at the two major periods of unrest:





•  1919–20



•  1926.





Using your timeline try to explain the economic and political factors that made these outbreaks of unrest occur.
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Reasons for industrial change


Much of British industry after the First World War had not really moved on since Victorian times. It was still based in the centres of iron ore and coal in the north of England, south Wales and southern Scotland. It was still overwhelmingly heavy industry, which may have made Britain wealthy during the previous century, but now was often antiquated with old machinery, old methods of production, underinvestment and an inability to compete with foreign competitors such as the USA. It was in these areas of heavy, older industries that most industrial unrest took place during the interwar years.


There were, however, newer industries centred in the Midlands and the southeast. The most noticeable were motor vehicles, mainly adopting the mass production techniques of companies such as Ford in the USA (see page 236). There were also more light engineering factories producing consumer goods and household appliances for the domestic market such as washing machines and vacuum cleaners. These factories were often light and airy, and although unions often didn’t penetrate the work force, wages were good.


‘Two Englands’


Contemporary observers and historians have often spoke of ‘two Englands’ in the interwar years and differentiated between those in the older and newer centres of industry. Cotton, mining and ship building each lost one-third of their workforce while other industries saw increases:





•  Those making electrical appliances increased their workforce by two and half times.



•  Those working in the building industry increased their workforce by 33 per cent.



•  Service industries such as hotels and holiday camps increased their workforce by 40 per cent during the 1930s. This is a reflection of the fact that more people could take holidays – in 1939 11.5 million people were awarded holiday pay for the first time.





Nevertheless, most people still worked in the older industries where industrial relations could be a significant problem.


Industrial relations, 1918–21


During the First World War Prime Minister David Lloyd George had negotiated with the trade union movement to keep strikes to a minimum, as the wartime economy had required a high degree of labour discipline. Even so, there were wartime strikes, for example, in 1917 there were 48 strikes across Britain that involved over 200,000 workers and, by 1918, the relationship that the government had with the workers was deteriorating. In 1918, following the armistice, there was an enormous wave of unrest across the country as not only workers but soldiers and even the police went on strike as resentments and perceived injustices that had developed during the war were unleashed at the end of the conflict.


As factories took on large numbers of men, the numbers of strikes declined. New jobs, many of which were well paid, satisfied unionised British workers. In 1919 there were 32 million days lost to strikes but the following year, at the height of the boom (see page 26), the figure had fallen to 25 million. A year later, as unemployment soared and the workers who were in jobs saw their wages slump, strikes grew once more, reaching 84 million days lost.


Many of the grievances of the strikers were based around repressed wages, rising prices and food shortages, but a minority of strikers expressed more political and ideological grievances. The government was able to contain the strikes by offering concessions. This suggests that while the perception may have existed that Britain was close to a revolution, in reality there was not much chance of one occurring.
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Red Clydeside


In 1919 the epicentre of union unrest in Britain was Clydeside, in Glasgow. The Clyde workers had been involved in actively protesting against the First World War in 1914 and a May Day protest in 1918 calling for the end of the war attracted tens of thousands of workers.


In response to growing unemployment in the depressed former ship-building industry, the Glasgow Trades Council proposed to reduce the working week from 54 hours to 40. This was intended to give surplus hours to unemployed men, many of whom were ex-servicemen.


Matters came to a head on 31 January 1919 when 90,000 demonstrators filled George Square demanding the 40-hour week, raising the socialist red flag. At a time when governments across the Western world were very nervous about the possibility of revolution breaking out (Allied intervention was still ongoing in the Russian Civil War to ‘strangle Bolshevism in its cradle’ as Winston Churchill put it) the raising of the flag was an incendiary act. It is unclear if the police acted first, but by the end of the day pitched battles had taken place between protesters and police, with tanks and soldiers being quickly transported to Glasgow from England and other parts of Scotland in order to put down any organised revolutionary violence. The scale of the violence and the potential for greater bloodshed from the Army shocked union leaders who called on protesters to halt the rioting. The 40-hour week was never obtained by the workers.
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The miners’ strike, 1921



In 1921, it was the turn of the miners to strike. The Miners Federation of Great Britain (MFGB) was the largest union, with over 900,000 members. Wartime government control of the coal mines had been popular with the miners who looked upon the pit owners as lazy, greedy and incompetent.


Once the government’s control of mines ended in March 1921, and they were returned to private industry, wages were cut and hours lengthened in order to compete with foreign coal imports. The high levels of unemployment in 1921 enabled mine owners to reduce wages, knowing that the miners did not have other work to go to if they left their existing jobs.


The MFGB, the National Transport Workers Federation (NTWF – representing dock workers) and the National Union of Railwaymen (NUR) had discussed the possibility of united strike action to protect wages if a post-war economic slump occurred. A miners’ strike could easily be broken by the importing of foreign coal, but if dock workers refused to unload it and rail workers refused to move it across the country the strike could be potentially crippling and might quickly become a general strike.


When union leaders refused to accept pay cuts mine owners locked out their workers on 1 April and the government used the Emergency Powers Act to send troops to south Wales in anticipation of unrest and violence.


Black Friday


The miners’ attempts to strike in 1921 were sabotaged by the other two branches of the ‘triple alliance’ abandoning their cause. On Friday 15 April (referred to in the labour movement as ‘Black Friday’), the NUR and the NTWF both decided not to go out on strike in solidarity with the miners. The miners’ leaders had made a crucial error in asking for support from the other unions but refusing to allow them to be part of the negotiations. This made members reluctant to strike and union leaders wary of the potential consequences of involving their members. The miners went on strike between 15 April and 28 June, but were eventually forced to end the walkout, realising they could not beat the mine owners alone. The miners were forced to accept pay cuts that left their wages 20 per cent lower than in 1914.


Black Friday left the miners with a lasting sense of grievance towards the rest of the union movement and a hope that the election of a Labour government might change their fortunes. However, the fall of the first Labour government in 1924 without achieving any of its core goals (see page 8) meant that union militancy once again became the primary means of bringing about change. The decision of the Baldwin government to return Britain to the Gold Standard (see page 29) left mine owners’ profits depleted. Their default response was to cut miners’ pay, resulting in a strike by the MFGB, led by a popular and radical union organiser Arthur Cook. His slogan, ‘Not a minute on the day nor a penny off the pay’, had great resonance with the miners who had no sympathy with the mine owners’ predicament.


The general strike, 1926


The government, fearing a general strike, established an enquiry into miners’ conditions and offered a subsidy to the mine owners that would maintain miners’ pay until 1 May 1926. The mine owners, knowing that the subsidy was coming to an end, told the miners they would have to accept pay cuts and threatened a lockout unless they agreed. In March 1926 a government enquiry, the Samuel Commission, recommended a 13.5 per cent pay cut for the miners with the withdrawal of the subsidy. On 1 May 1926 a million miners across Britain were locked out of their workplaces for refusing to accept the new lower wages.


The TUC announced that a general strike would begin on 3 May, knowing that abandoning the miners again would be catastrophic for both them and the prospects for a future Labour government.
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Arthur Cook


Arthur Cook was a Somerset-born miner, trade unionist and Baptist lay preacher. He was imprisoned for three months during the First World War for sedition after speaking out against conscription. He became the leader of the South Wales Miners Federation in 1921, but his radical left-wing views left him isolated and distrusted by much of the rest of the TUC. He was a leading figure in the National Minority Movement (NMM), and hoped that the union movement would become revolutionary.
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Government response to the strike



The government, knowing the strike was coming, was far better organised than the TUC, publishing its own propaganda paper, the British Gazette, and using the new BBC to broadcast radio messages in support of the government position. The Labour Party distanced itself from the strikers and the TUC only authorised unions to strike who could claim to have common interests with the miners to strike – miners, railwaymen, dockers, iron, steel, transport workers and printers.


An anti-union group of volunteers, the Organisation for the Maintenance of Supplies, was founded to do the work that the strikers refused to do. Its members manned buses, trains and telephone exchanges during the strike. The strike collapsed when it transpired that the 1906 Trades Disputes Act that gave unions legal immunity from damages claims for loss of profits from businesses would not apply. Union members began to return to work and the TUC appealed to the government not to victimise the strikers. Baldwin told the unions he could not guarantee the rights of workers who returned to work and many were singled out as trouble makers. Wages for the miners were slashed and the industry lost 30 per cent of its jobs; the strike had been a catastrophic failure for the miners. A new Trades Disputes Act in 1927 prevented sympathetic strikes and mass picketing.


Changing industrial relations, 1929–39


Union activity throughout the 1930s was significantly weakened by the aftermath of the General Strike. With the advent of the Great Depression and the resulting mass unemployment (see page 29), union revenues were depleted and membership declined from its height of 8 million in 1922 to 4.5 million in 1932.


The exception was the Communist-Party-backed National Unemployed Workers’ Movement (NUWM) which grew in size during the depression but was still small compared to unions like the MFGB.


By the eve of the Second World War, while most of Britain had seen an economic recovery, the heavy industrial heartlands now in terminal decline were still the most poverty-stricken and deprived parts of Britain. Union action had been unable to alleviate the conditions in the Clyde, south Wales, Yorkshire and Tyneside coal fields or the Merseyside docks.
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2 Changing work opportunities and conditions, 1939–79



Between 1939 and 1979 the availability and the type of work on offer in Britain changed dramatically. The 1950s and 1960s saw almost full employment which gave employees more choice as to their occupation, but the 1970s brought a downturn and the ending of government commitment to full employment.




[image: ]


Note it down


Produce a spider diagram (see page x) to show the changing work opportunities and conditions between 1939 and 1979. In the middle put the title ‘Work opportunities and conditions’, with legs labelled as:





•  Second World War



•  Full employment in the 1950s and 1960s



•  Growth of unemployment in the 1970s.
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The Second World War


The Second World War brought considerable changes to employment in Britain. The movement to war production brought full employment and the deployment of large numbers of women into factories and jobs previously designated for men. Factories that may have lain idle during the 1930s were fully operational, building weapons and munitions. By 1944 it was estimated that 33 per cent of the civilian population was involved in war work, including 7 million women.


This meant that during war time working opportunities for many people in Britain improved. Not only did the mass unemployment of the 1930s virtually disappear, but the working conditions, wages and benefits that unions could negotiate were improved.


Wartime employment


Minister of Labour Ernest Bevin had issued an Essential Work Order in March 1941 which tied people to jobs considered essential for the war effort and made it difficult for employers to dismiss them. Even so there were a shortage of skilled workers, for example in engineering and ship building, and the September 1939 Control of Employment Act was used to allow semi-skilled workers to undertake formerly skilled jobs. Skilled workers in essential war industries were also exempt from military service.
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‘Bevin Boys’


One controversial policy, which began in December 1943, was the conscription of 10 per cent of young men into the coal mines rather than military service. The mines had lost 36,000 of their workforce and were replaced by ‘Bevin Boys’, many of whom resented this enforced alternative to joining the armed forces.
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Working conditions in factories often improved. Bevin insisted that employers as far as possible provide medical centres and canteens to feed their employees; crèches were also introduced for working mothers. He established the popular radio programme ‘Worker’s Playtime’ and ensured that munitions workers knew that they were a vital part of Britain’s eventual victory. Wages also increased. Hours, however, were long.


Full employment


Between the 1940s and 1970s, both parties maintained a commitment to full employment. This was in part possible due to favourable economic conditions throughout much of the 1950s and 1960s. Unemployment rose to above 2 per cent in only eight of the years between 1948 and 1970. Record levels of low unemployment had a direct impact on industrial relations. Employers needed to keep skilled workers in their workplaces and had to use attractive wages and working conditions to prevent them from leaving for another job. With little worry about long-term unemployment workers were more mobile and more likely to leave a job that didn’t suit them. This was especially common in regions and cities where particular industries were based, such as the textiles industry in Nottingham. One could leave one firm and easily find similar work in another. For this reason, employers often offered benefits to their workers such as cheap canteen facilities, sports and social clubs, subsidised works outings and social functions.


Employment opportunities


Employment opportunities developed, too. With better education and an economy that remained buoyant despite its problems, people had more choice and could be more flexible in how they were employed.


Previously children often followed their parents into the same occupation, be it in a textile mill or coal mine. Now expectations rose. As technology developed, there were more white-collar and technological jobs in electronics, light engineering and the provision of consumer goods. More managers were required. Unsurprisingly, surveys showed that those in professional and white-collar jobs tended to gain more satisfaction from work than those in manual jobs. There was a growth, too, in the service sector, in tourism (see page 160), shops and restaurants.


Work in factories


Many people worked in industry and factories. The car industry became a major employer. By 1956 over 500,000 people were directly employed in the production of motor vehicles or components.


One continuing problem with factory work was its tedium. Many employees spent their days doing repetitive work often tied to the speed of a conveyor belt in deafening noise. As automation developed, this aspect worsened. It was difficult to make production lines interesting. The benefit was pay. Average weekly earnings for men doubled from £8.30 per week in 1951 to £15.35 a decade later. They had doubled again to £30.93 by 1971. While retail prices rose by 63 per cent between 1955 and 1969, weekly wage rates went up by 88 per cent. When overtime is taken into account this figure rose to 130 per cent. People could buy more with their money as well – as technology and mass production developed, the cost of consumer items such as TV sets fell in real terms


Growth of unemployment in the 1970s


Full employment began to decline before governments actually abandoned their commitment to it. As industrial problems began to bite, unemployment rose to 1 million in 1972 and ideas that had existed since the late 1940s about job security began to fade against a new reality of joblessness. The decline in heavy industry meant that unemployment was more acute in industrial parts of Britain such as the north, south Wales, the Midlands and Scotland.


In the west Midlands so much of the industry was geared to motor vehicle production and related components that problems in motor vehicle production could have massive knock-on effects – for example a downturn in the car-producing factories led to short-time working in headlight manufacture.


In these areas, where often there was little alternative to jobs in mines and factories, the downturn bit hard as places of employment closed.


By 1976 the Labour government had conceded that the working opportunities that had existed since the end of the Second World War were no longer possible. It abandoned the commitment to full employment and accepted that market forces would have a greater role in determining who worked and who did not.


3 Industrial relations, 1939–79


In the period 1939–79 the relationship between the trade unions and the government underwent a period of transition.


During the war, unions and the government worked closely together and in the 1950s and 1960s an era of ‘consensus’ and policies of corporatism (see page 34) gave unions a role in industrial policy and wage setting alongside businesses. During the late 1960s and 1970s the relationship between the trade unions and the government became progressively less co-operative and more antagonistic, resulting in a series of confrontations between them. In 1974 this resulted in the fall of Edward Heath’s Conservative government and in 1979 contributed to the defeat of James Callaghan’s Labour government.
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Note it down


From 1969 to 1979 the unions defeated every attempt to control them or limit their powers from both the Conservative and Labour parties. How did they exercise such power? As you read this section note:





•  long-term causes of union strength in the 1970s



•  long-term causes of union militancy in the 1970s



•  short-term causes of Conservative weakness



•  short-term causes of Labour weakness.





Then, with a partner, evaluate the strongest causes of the unrest, 1969–79.
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The war years, 1939–45


In May 1940 the support of the Labour Party enabled Winston Churchill to form a new National Government (see page 14). From a union point of view the most important member of the new cabinet was Ernest Bevin, the minister of labour and national service. Through the Emergency Powers (Defence) Act (1939) Bevin had almost complete control over the British workforce.


Bevin had been the leader of the Transport and General Workers Union (TGWU) and was seen as a safe pair of hands by Churchill because he had repeatedly preached moderation and co-operation, hoping that workers and bosses could find compromises between themselves. He fostered joint production committees in factories between workers and management to explore efficiency-saving new techniques and offered piece-rate bonuses to more efficient workers. Skilled workers and union shop stewards became powerful during the war because of labour shortages and the high demand for quality work.
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Ernest Bevin, 1881–1951


Ernest Bevin was a working-class Labour politician and trade unionist. He was born in Somerset and worked as a lorry driver and labourer, before becoming involved in labour politics. He was on the right of the Labour Party and suspicious of communism. He participated in the General Strike of 1926 but believed it was a mistake. After his wartime service as minister of labour and national service he became foreign secretary and was regarded by the civil servants who served under him to have been one of the most talented statesmen to have held the post. He died in 1951.
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Wartime strikes


A popular but largely inaccurate view of the war years is one of relative social peace and unity in the face of the Nazi threat. The problems that the war created – long antisocial hours, lack of recognition for workers and changeable pay packets – led to numerous strikes and protests over wages and working conditions. In 1940 the government introduced Defence Regulation 58AA banning strikes and lockouts.


Miners


In 1942 at Betteshanger in Kent, miners went on strike illegally. The government took over the running of the coal industry from its private owners and initially chose to prosecute 1,050 miners, fining most of them between £1 and £3. The miners in other pits downed tools in solidarity, forcing the Home Secretary to drop the charges and improve wages.


Often younger miners or ‘Bevin Boys’ (see page 46) who were conscripted to work in the mines went on strike because they were angry about the lower rates of pay they received, compared to the older more experienced mine workers. In the south Wales coal fields alone there were 514 strikes between 1939 and 1944.


In the spring of 1944, 100,000 Welsh miners went on unofficial strike for better wages (by 1944 the average daily rate for miners working underground was just £5 per day, whereas the average wage in manufacturing was £6.10s a day). The government quickly relented to their demands. Britain’s miners found that the war presented opportunities for improved pay that peacetime had not offered.


Industrial relations, 1945–51


Throughout the war, union leaders had been appointed to numerous government bodies on wages, industry and social policy and this continued after 1945. It meant that union leaders had more access to decision making than at any point in their history and their views were frequently heard within government. In 1939 union leaders sat on twelve government committees, but by 1949 they sat on 60. In 1945, 120 Labour MPs were sponsored directly by the unions of which 26 became ministers and six sat in the cabinet, including Ernest Bevin. Between 1945 and 1951 the TUC and the Labour Party shared similar views on economic and social priorities


Labour repealed the 1927 Trades Disputes Act imposed after the General Strike, restoring the union movement much of its power in industrial disputes.
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The Industrial Charter


In 1947 the Conservative Party carried out a review of its policies and published the Industrial Charter. The pamphlet was a clear indication that the party recognised that growing union membership and a widespread desire for a welfare state and fair treatment at work meant they had to adopt Labour’s pro-union approach. The Charter expressed a desire by the party to see large unions that democratically represented the will of their members. The Conservatives argued that a ‘human relations’ approach to dealing with workplace disputes was better than strike action. By considering the feelings and opinions of workers, the party believed the discontent that could be used by socialist agitators could be avoided. A paternalist approach to running businesses would ensure that the interests of all parts of industry from the boardroom to the shop floor could be protected.
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Industrial relations, 1951–64



The 1950s was an era of high employment and high trade union membership, and union membership grew throughout the 1960s and 1970s (see Table 1).


Table 1: Trade union membership, 1940–80






	Year  

	Membership in 000s






	1940

	6,613






	1945

	7,815






	1950

	9,289






	1955

	9,741






	1960

	9,835






	1965

	10,325






	1970

	11,179






	1975

	11,656






	1980

	12,636







Source: Department of Employment Statistics Division (1892–1974); Certification Office (1974–2012)


A new prosperous union leadership emerged whose lifestyles were often far removed from their poorer members. TUC general secretaries, like Vic Feather and Len Murray, lived comfortable, affluent lives, though they worked long hours in the interests of their members. A more important difference between men like Feather and Murray and the rank and file of the unions was a difference in expectations. Both men had begun their union careers in the 1930s and 1940s, during periods of depression, war and austerity and had not been heavily influenced by post-war materialism. Many younger union members were keen to participate in the consumer boom of the 1950s and wanted the wage rises that would enable this to happen.


This meant that many members saw themselves having more in common with the more militant and unpaid shop stewards. Some stewards were able to build power bases within certain factories and called strike action long before a decision had been made by senior union management. These stewards had no constitutional right to call strikes and often staged walkouts before any negotiation with management could take place. The growth in the power of the stewards would lead to more aggressive confrontational unions in the 1960s and 1970s. This new attitude was less to do with the success of socialist ideas among the workers and more a product of the success of the new consumerism. Working-class men and women wanted pay rises in order to be able to participate in the consumer boom of the 1950s and 1960s, and with a decline in deferential attitudes throughout the period (see pages 98–9) they were less content to ask politely for them.
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Unions and strike action


Unions were democratically organised bodies, they had constitutions, elected leaders and their members were able to vote on important issues that affected the union and their industry. Most strikes were supposed to be undertaken only after a national ballot of members had occurred, but there was no legislation that guaranteed this. By the mid-1960s the numbers of official and unofficial strikes being called without a ballot was rising, and by 1970, 10 million working days were lost to strike action. Often disputes were caused by factional feuds between different unions within the same factory. Walkouts could be caused by trivial disputes that had nothing to do with the actions of the management.
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Deterioration in relations


Walter Monckton, the Conservative minister of labour, attempted a conciliatory policy with the unions but relations between the TUC and the Conservatives deteriorated. In the decade 1945–54 there were approximately 1,751 strikes per year involving just over half a million workers, but from 1955 to 1964 the number of strikes jumped to 2,521, involving over 1.1 million workers. The unions were often blamed by middle-class observers and newspapers such as The Times for Britain’s relatively weak economic performance during the boom of the 1960s, but the figures suggest that this may not be entirely fair. They became a convenient excuse for deeper economic troubles (see page 35) and a source of resentment to many in Britain’s middle class. There was a growing perception among the British public of unionised men being lazy, obstructive and too powerful.
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